
  

D–2346   

DISTANCE EDUCATION 

Common for M.Com./M.Com. (F & C) DEGREE 
EXAMINATION, DECEMBER 2023. 

First Semester 

MANAGEMENT CONCEPTS 

 (CBCS 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What do you mean by unity is strength? 

 JØÖø©÷¯ £»® £ØÔ }Ãº AÔÁx GßÚ? 

2. Expand: MBO and MBE. 

 Â›ÁõUSP : MBO ©ØÖ® MBE. 

3. What is meant by line and staff organization? 

 Á›ø\ ©ØÖ® £o¯õÍºPÒ Aø©¨¦ •øÓ £ØÔ AÔÁx 
GßÚ? 

4. What is delegation? 

 J¨£øhÄ GßÓõÀ GßÚ? 

5. Give the meaning of Staffing. 

 £o¯©ºzxu¼ß ö£õ¸Ò u¸P. 
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6. Write short note on Leading. 

 ]ÖSÔ¨¦ ÁøμP & •ßÚo. 

7. What is Controlling? 
 Pmk¨£õk GßÓõÀ GßÚ? 

8. What is meant by horizontal co-ordination? 
 £kQøh¯õÚ J¸[Qøn¨¦ £ØÔ AÔÁx GßÚ? 

9. What is Management Audit? 
 ÷©»õsø© uoUøP GßÓõÀ GßÚ? 

10. Expand: MIS and TQM. 

 Â›ÁõUSP. MIS ©ØÖ® TQM. 

PART B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) Distinguish between management and 
administration. 

   ÷©»õsø© ©ØÖ® {ºÁõPzvøÚ ÷ÁÖ£kzxP. 

Or 

 (b) Explain the different types of planning. 
  vmhªku¼ß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

12. (a) What are the characteristics of MBO? 

   MBO-Âß Snõv]¯[PÒ ¯õøÁ? 

Or 

 (b) Distinguish between formal and informal 
organization. 

  •øÓ¨£i¯õÚ ©ØÖ® •øÓ¨£i¯À»õu 
Aø©¨¤øÚ ÷ÁÖ£kzxP. 
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13. (a) State the functions of staffing. 

  £o¯õÍº {¯©Úzvß £oPøÍ TÖP. 

Or 

 (b) Explain Mcgregor's ‘X’ and ‘Y’ theories. 

  ö©UŸP›ß ‘X’ ©ØÖ® ‘Y’ ÷Põm£õkPøÍ ÂÍUSP. 

14. (a) Discuss the pre requisites of effective control. 

   £¯ÝÒÍ Pmk£õkPÐUS ÷uøÁ¯õÚÁØøÓ 
ÂÁõvUP. 

Or 

 (b) Mention the various qualities of a supervisor. 

  ÷©Ø£õºøÁ¯õÍ›ß £À÷ÁÖ SÚ|»ßPøÍ u¸P. 

15. (a) Bring out the scope of Management Audit. 

  ÷©»õsø© uoUøP°ß GÀøPPøÍ u¸P. 

Or 

 (b) What are the causes for poor management 
information system? 

  ¤ßu[Q¯ ÷©»õsø© uPÁÀ •øÓUPõÚ 
Põμn[PøÍ ¯õøÁ? 

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the principles of management. 

 ÷©»õsø©°ß öPõÒøPPøÍ ÂÁ›UP. 

17. Describe the various process of decision making. 

 •iöÁkzu¼ß £À÷ÁÖ ö\¯À•øÓPøÍ ÂÁ›UP. 
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18. Explain the role of leadership in contemporary business. 

 ÁoPzvÀ uø»ø©÷¯Ø¤ß £[SPøÍ ÂÍUSP. 

19. Enumerate the various techniques of co-ordination. 

 J¸[Qøn¨¤ß £À÷ÁÖ ~qUP[PøÍ GkzxøμUP. 

20. Discuss the advantages of management audit. 

 ÷©»õsø© uoUøP°ß |ßø©PøÍ ÂÁõvUP. 

 

———————— 



  

D–2362   

DISTANCE EDUCATION 

M.Com. (F & C) DEGREE EXAMINATION, DECEMBER 2023. 

First Semester 

BUSINESS LAW 

(CBCS 2018 – 19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is the role of a Merchant? 

2. Who has right to perform a contract? 

3. Define Void Agreement. 

4. What is liability under a suit for damages? 

5. Who is Bailer Rights and Duties? 

6. What is meant by performance of Contract? 

7. How can Goodwill increase? 

8. What is meant by Common Carrier? 

9. Why is it important to Petition? 

10. Who are called Creditors? 

Sub. Code 
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SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a)  Explain the Principles of Equity. 

Or 

 (b) What are the sources of Mercantile Law? 

12. (a)  Explain the legal rules as to Acceptance. 

Or 

 (b) Differentiate between an Express Offer and an 
Implied Offer.  

13. (a)  Explain the essentials of a Valid Contracts. 

Or 

 b) What are the Types of Bailment Contract? 

14. (a)  What are the Types of Implied Warranties? 

Or 

 (b) Discuss the Partnership Vs Joint Hindu Family. 

15. (a)  Explain the Types of Crossing. 

Or 

 (b) Describe the carriage of goods Act. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the Classification of Contracts. 

17. Discuss the Mistake of Foreign Law. 
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18. Explain the Payment by an interested person. 

19. Describe the contract of Bailment and Pledge. 

20. Explain the parties of Negotiable Instruments. 

_______________ 



  

D–2348   

DISTANCE EDUCATION 

Common for M.Com./M.Com. (F & C) DEGREE 
EXAMINATION, DECEMBER 2023. 

First Semester 

ADVANCED ACCOUNTING 

 (CBCS 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is Accounting? 

 PnUQ¯À GßÓõÀ GßÚ? 

2. What is meant by Journal? 

 SÔ¨÷£k £ØÔ AÔÁx GßÚ? 

3. What is Closing Entries? 

 CÖv £vÄPÒ GßÓõÀ GßÚ? 

4. What do you mean by Grace Days? 

 \¾øP |õÒPÒ £ØÔ }Âº AÔÁx GßÚ? 

5. What is average due date? 

 \μõ\› uÁøn |õÒ GßÓõÀ GßÚ? 

Sub. Code 
31013/33513
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6. What is meant by Revenue Expenditure? 

 Á¸Áõ°Ú ö\»Ä £ØÔ AÔÁx GßÚ? 

7. What is depreciation? 

 ÷u´©õÚ® GßÓõÀ GßÚ? 

8. What is Royalty Account? 

 E›ø©z öuõøP GßÓõÀ GßÚ? 

9. State any two features of branch accounts. 

 QøÍ PnUQß H÷uÝ® Cμsk A®\[PøÍ TÖP. 

10. Define the term Hire Purchase. 

 ÁõhøP öPõÒ•uÀ GÝ® £uzøu Áøμ¯ÖUP. 

PART B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) Explain various accounting convention 

  £À÷ÁÖ PnUQ¯À ö£õxUP¸zxUPøÍ ÂÁ›UP. 

Or 

 (b) Prepare Trial Balance from the following 
information : 

Particulars Rs. 

Capital 9,000

Plant and Machinery 12,000

Purchases 8,000

Sales 12,000

Creditors 8,000

Bank Loan 22,000
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Rent Outstanding 1,000

Opening Stock 2,000

Sales Returns 4,000

Investment 14,000

Debtors 12,000

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x C¸¨¦ ÷\õuøÚø¯ 
u¯õ›UP : 

ÂÁμ[PÒ ¹. 

•uÀ 9,000

ö£õÔ ©ØÖ® C¯¢vμ® 12,000

öPõÒ•uÀ 8,000

ÂØ£øÚ 12,000

PhÜ¢÷uõºPÒ 8,000

Á[QPhß 22,000

öPõk£h÷Ási¯ ÁõhøP 1,000

öuõhUP \μUQ¸¨¦ 2,000

ÂØ£øÚ v¸¨£® 4,000

•u½kPÒ 14,000

PhÚõÎPÒ 12,000

12. (a) From the following information find out the Credit 
Purchases : 
Particulars Rs. Particulars Rs. 

Creditors (1st January 2020) 40,000 Payment in Cash 5,000

Creditors (31st December 2020) 47,500 Discount Received 2,500

Cheque paid to Creditors 2,35,000 Purchase Returns 5,000

Payment by Bills Payable 25,000   
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  ¤ßÁ¸® uPÁÀPÎ¼¸¢x Phß öPõÒ•uÀ 
öuõøPø¯ PõsP. 
ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

PhÜ¢÷uõº (áÚÁ› 1, 2020) 40,000 öμõUP©õP 
ö\¾zv¯x 

5,000

PhÜ¢÷uõº (i\®£º 31, 2020) 47,500 uÒÐ£i ö£ØÓx 2,500
PhÜ¢÷uõ¸US ö\¾zv¯ Põ÷\õø» 2,35,000 öPõÒ•uÀ 

v¸¨£[PÒ 
5,000

ö\¾zxuØS›¯ ©õØÖa ^mk ‰»® 
ö\¾zv¯x 

25,000   

Or 

 (b) Prepare Trading account of Mr. Rajesh for the year 
ending 31st March 2015 

 Rs.  Rs. 

Stock of goods on 01.04.2014 25,000 Cash Sales 51,000

Stock of goods on 31.03.2015 47,500 Credit Sales 1,15,000

Cash Purchases 37,000 Returns to suppliers 2,500

Credit Purchases 82,500 Returns by customers 2,500
  ©õºa 31, 2015 CÀ •iÁøh²® v¸. μõ÷áì 

Gß£Á›ß Â¯õ£õμ PnUøP u¯õ›UP. 
 ¹.  ¹. 

01.4.2014 AßøÓ¯ \μUQ¸¨¦ 25,000 öμõUP ÂØ£øÚ 51,000
31.3.2015 AßøÓ¯ \μUQ¸¨¦ 47,500 Phß ÂØ£øÚ 1,15,000
öμõUP öPõÒ•uÀ 37,000 \μUPÎzuÁ¸US v¸¨¤¯x 2,500
Phß öPõÒ•uÀ 82,500 ÁõiUøP¯õÍμõÀ v¸¨¤¯x 2,500

13. (a) From the following particulars prepare a bank 
reconciliation statement showing the balance as per 
cash book on 31.03.2014. 

 Rs. 

Balance as per pass book 8,000

Cheque deposited but not credited by the bank 1,000

Cheque deposited into bank without recording in the cash book 600

Cheque issued but not presented for payment 500

Bank charges debited in the pass book but not recorded in cash book 50
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  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 31.03.2014 |õÍßøÓ¯ 
öμõUP Hmiß £i C¸¨ø£ Põmk® Á[Q \›Pmk® 
£mi¯ø»z u¯õ›UP. 

 ¹. 

ö\À÷»miß £i C¸¨¦ 8,000

Põ÷\õø» ö\¾zv²® Á[Q¯õÀ ÁμÄ øÁUP¨£hõuøÁ 1,000

öμõUP HmiÀ £vÄ ö\´¯õ©À Á[Q°À ö\¾zv¯ Põ÷\õø» 600

Põ\÷õø» Âkzx® Á[Q°À £n©õUP \©º¤UP¨£hõuøÁ 500

ö\À÷»miÀ £ØÖ øÁUP¨£mk öμõUP HmiÀ £vÄ ö£Óõu Á[Q Pmhn® 50

Or 
 (b) Distinguish between receipts and payment account 

and income expenditure account. 
  ö£ÖuÀ ©ØÖ® ö\¾zxuÀ PnUS ©ØÖ® Á¸Áõ´ 

©ØÖ® ö\»ÂÚU PnUSPøÍ ÷ÁÖ£kzxP.  

14. (a) X consigned 2,000 kg. of Gingelly oil costing 
Rs.15,000. He paid freight and insturance Rs.300 
and Rs.200 respectively. Y Consignee, received the 
consignment and incurred Rs. 300 towards 
unloading charges and cartage. He sold  1,800 kg oil 
and reported the balance of stock at 150 kg. Find 
out the value of closing stock. 

  X Gß£Áº ¹. 15,000 AhUPÂø» öPõsh 2,000 
Q÷»õ Qμõ® |Àö»sön´&I AÝ¨¥k ö\´uõº. 
AÁº \zu©õP  ¹. 300 Põ¨¥hõP ¹. 200® ö\»Ä 

ö\´uõº. AÝ¨¥møh Y GÝ® AÝ¨¥k ö£Ö|º 
ö£ØÖU öPõshõº. ÷©¾® CÓUS T¼ ©ØÖ® yUS 
T¼UPõP ¹. 300 ö\»Ä ö\´uõº. AÁº 1800 QQ 
B°ø» ÂØÖÂmk 150 QQ C¸¨¦ C¸¨£uõP 
öu›Âzuõº. CÖv \μUQ¸¨¤ß ©v¨ø£ PõsP. 

Or 
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 (b) From the following details prepare Journal entries 

relating to royalty in the books of Dinakar 

  

Land lord : Galaxy Coal Mines

Lease period : 25 Years 

Lease amount : Re.1 per ton 

Minimum Rent : Rs.15,000 

Short working recovery : First 3 years 

  Production (output) 

Year : 2009 2010 2011 2012 

Tons : 8000 13000 21000 18000

  ¤ßÁ¸® Â£μ[PøÍU öPõsk vÚPμß HkPÎÀ 

E›ø©z öuõøP \õº¢u SÔ¨÷£mk £vÄPøÍ u¸P.  

  

E›ø©¯õÍº : ÷Põ»Uê {»UP› _μ[P®

SzuøP Põ»® : 25 Á¸h® 

SzuøP öuõøP : ¹. 1 hßÛØS 

SøÓ¢u £m\ ÁõhøP : ¹. 15,000 

SøÓ EØ£zv «m¦ : •uÀ 3 Á¸h[PÎÀ 

  EØ£zv Â£μ® 

Á¸h® : 2009 2010 2011 2012 

hßPÒ: 8000 13000 21000 18000
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15. (a) A company has two departments A and B.  
A department supplies the goods to B department at 
its usual selling price. From the following figures, 
prepare Departmental Trading Account for the year 
2015. 

 Dept. A (Rs.) Dept. A (Rs.)

Stock on 01.01.2015   30,000 – 

Purchases 2,10,000 – 

Transfer to Department B    50,000 50,000 

Sales 2,00,000 60,000 

Stock on 31.12.2015   40,000 10,000 

  J¸ {Ö©©õÚx A ©ØÖ® B GÝ® C¸ xøÓPøÍ 

öPõskÒÍx. A xøÓ¯õÚx B xøÓUS uÚx 
ÂØ£øÚ Âø»°ß ©v¨¤À ö£õ¸ÒPøÍ 
ÁÇ[SQßÓx. ¤ßÁ¸® uPÁÀPÎ¼¸¢x 2015 B® 
BsiÀ xøÓPÎß Â¯õ£õμ PnUøP u¯õ›UP. 

 xøÓ A (¹.) xøÓ B (¹.)

01.1.2015 AßøÓ¯ \μUQ¸¨¦   30,000 – 

öPõÒ•uÀ 2,10,000 – 

B xøÓUS ©õØÔ¯x    50,000 50,000 
ÂØ£øÚ 2,00,000 60,000 
31.12.2015 AßøÓ¯ \μUQ¸¨¦   40,000 10,000 

Or 

 (b) A firm purchased machinery on 01.07.2020 on Hire 
Purchase System. It immediately paid Rs. 10,000 as 
down payment and agreed to pay three more half 
yearly instalments of Rs. 8,200, Rs. 7,440 and  
Rs. 6,300. The firm instalment was paid on 
31.12.2020. The vendor charges interest at 10% p.a. 
Calculate the Cash Price of the asset 
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  J¸ {ÖÁÚ® C¯¢vμ® JßøÓ ÁõhøP öPõÒ•uÀ 
Ai¨£øh°À 01.07.2020&À Áõ[Q¯x. EhÚiz 
öuõøP¯õP ¹. 10,000 AßøÓ¯ ÷uv°À, «v°øÚ 
‰ßÖ Aøμ¯õsk ö\¾zxu»õP öPõkUP 
J¨¦UöPõsk •øÓ÷¯ ¹. 8,200, ¹. 7,440, ©ØÖ® 
¹. 6,300 BP ö\¾zu¨£mhx. •uÀ uÁønz 
öuõøP 31.12.2020&À ö\¾zu¨£mhx. ÁõhøP 
ÂØ£øÚ¯õÍº BskUS 10% Ámi ÂvUQÓõº. 
C¯¢vμzvß öμõUP Âø»ø¯U PõsP. 

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. State the differences between Book Keeping and 
Accounting. 

 PnUS øÁ¨¤ØS®, PnUQ¯¾US® Cøh÷¯ EÒÍ 
÷ÁÖ£õmøhU TÖP. 

17. From the following trial balance of Ravi, prepare trading 
and profit and loss account for the year ended December 
31st 2018 and a balance sheet as on that date. 

Particulars Dr .(Rs.) Cr .(Rs.)
Capital – 40,000
Sales – 25,000
Purchases 15,000 
Salaries 2,000 
Rent 1,500 
Insurance 300 
Drawings 5,000  
Machinery 28,000  
Bank Balance 4,500  
Cash 2,000  
Opening Stock 5,200  
Sundry Debtors 2,500  
Sundry Creditors  1,000
Total 66,000 66,000
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 Adjustments : 

 (a) Stock on 31.12.2018 Rs. 4,900 

 (b) Salaries unpaid Rs.300 

 (c) Rent paid in advance Rs.200 

 (d) Insurance prepaid Rs.90 

μÂ Gß£Á›ß ¤ßÁ¸® C¸¨¦ ÷\õuøÚø¯ öPõsk 
31.12.2018 AßÖ •iÄÖ® Â¯õ£õμ, C»õ£ |mh PnUS 
©ØÖ® C¸¨¦ {ø»USÔ¨ø£ u¯õº ö\´P. 

Â£μ[PÒ £ØÖ (¹.) ÁμÄ (¹.)

•uÀ – 40,000
ÂØ£øÚ – 25,000
öPõÒ•uÀ 15,000
\®£Í® 2,000
ÁõhøP 1,500
Põ¨¥k 300
Gk¨¦PÒ 5,000  
C¯¢vμ® 28,000  
Á[Q C¸¨¦ 4,500  
öμõUP® 2,000  
öuõhUP \μUQ¸¨¦ 5,200  
£Ø£» PhÚõÎPÒ 2,500  
£Ø£» PhÜ¢÷uõºPÒ 1,000
ö©õzu® 66,000 66,000

 \›PmkuÀPÒ : 

 (A) 31.12.2018 AßøÓ¯ \μUQ¸¨¦ ¹. 4,900 

 (B) öPõk£h÷Ási¯ \®£Í® ¹. 300 

 (C) •ßTmi ö\¾zv¯ ÁõhøP ¹. 200 

 (D) •ßTmi ö\¾zv¯ Põ¨¥k ¹. 90 
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18. Ramesh drew upon the following bills of exchange due for 
payment on Vinod. 

Date of Bill Amount 
Rs. 

Tenure of the Bill

01-06-2018 1,200 3 months 

19-06-2018 1,600 2 months 

10-07-2018 2,000 3 months 

27-07-2018 1,500 3 months 

07-08-2018 1,800 1 month 

15-08-2018 2,400 2 months 

  Find out Average due date on which payment may 
be made in one single amount. 

 μ÷©è Gß£Áº Â÷Úõz «x ¤ßÁ¸® ©õØÖa^møh 

GÊxQÓõº. 

Esi¯¼ß ÷uv öuõøP 
¹. 

Esi¯¼ß 
•vºÄ Põ»®

01-06-2018 1,200 3 ©õu[PÒ 

19-06-2018 1,600 2 ©õu[PÒ 

10-07-2018 2,000 3 ©õu[PÒ 

27-07-2018 1,500 3 ©õu[PÒ 

07-08-2018 1,800 1 ©õu® 

15-08-2018 2,400 2 ©õu[PÒ 

 J÷μ uÁøn°À AøÚzx® öuõøPPøÍ²® ö\¾zu 

HxÁõÚ \μõ\› uÁøn |õøÍ PnUQkP. 
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19. Ravi took a colliery on lease. Dead rent was Rs.750 a year 

merging into a royalty of 35 paise per tonne of coal raised, 

with the right to recover short working out of royalties of 

two Subsequent years from the period in which short 

workings arose. The output raised were : 

I Year 1000 tonnes

II Year 1500 tonnes

III Year 2500 tonnes

IV Year 1500 tonnes

 Show the ledge accounts in the books of Ravi. 

 μÂ J¸ {»UP›a _μ[PzøuU SzuøPUS Gkzuõº 

CÓ¢uõÀ ÁõhøP J¸ Á¸hzvØS ¹. 750 GkUS® 

JÆöÁõ¸ hß {»UP›US® 35 ø£\õ SzuøPz 

öuõøP²hß CønUP¨£kQÓx. SzuøPz öuõøP°ß 

SøÓ EØ£zv Ax GÊ¢u ¤ß EÒÍ Cμsk BskPÎß 

SzuøPz öuõøP°À «Í¨ ö£Ó»õ® GÚ E›ø© EÒÍx. 

Gkzu öÁÎ±kPÒ Á¸ÁÚ. 

I Á¸h® 1000 hßPÒ

II Á¸h® 1500 hßPÒ

III Á¸h® 2500 hßPÒ

IV Á¸h® 1500 hßPÒ

 μÂ°ß ¦zuPzvÀ ÷£÷μmkU PnUSPøÍz u¸P. 
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20. From the following data, prepare departmental Trading 
and profit and loss account for the year ended 31.12.12. 

 Dept. A 
(Rs.) 

Dept. B 
(Rs.) 

Stock (January 1) 40,000 – 

Purchases from outside 2,00,000 20,000 

Wages 10,000 1,000 

Transfer of goods from Dept. A – 50,000 

Stock (Dec.31) at cost of the Dept sales to 
outsiders 

30,000 10,000 

Sales to outsiders 2,00,000 71,000 

 B’s entire stock represents goods from Dept. A which 

transfers them at 25% above its costs. Administrative and 

selling expenses amounted to Rs.15,000 which are to be 

allocated between departments A and B in the ratio of 4:1 

respectively. 
 ¤ßÁ¸® uPÁÀPøÍU öPõsk xøÓÁõ›¯õÚ Â¯õ£õμ 

©ØÖ® C»õ£ |mhUPnUS 31.12.2012 B® BskUS 

u¯õ›UPÄ®. 

 xøÓ. A (¹.) xøÓ. B (¹.)

\μUS (áÚÁ› 1) 40,000 – 

öÁÎ°À öPõÒ•uÀ ö\´ux 2,00,000 20,000 

T¼ 10,000 1,000 

xøÓ A –°¼¸¢x \μUS ©õØÓ® – 50,000 

CÖv \μUS (i\®£º 31) AhUPÂø» 30,000 10,000 

öÁÎ|£ºPÐUS ÂØÓx 2,00,000 71,000 

 xøÓ B °ß \μUS •ÊÁx® xøÓ A-°¼¸¢x AhUP 
Âø»÷¯õk 25% Tku»õP ©õØÓ® ö\´¯¨£mhx. {ºÁõP 
©ØÖ® ÂØ£øÚ ö\»ÄPÒ öuõøP ¹. 15,000 xøÓ A 
©ØÖ® xøÓ B-US 4:1 GßÓ ÂQu¨£i 
£Qº¢uÎUP¨£kQÓx. 

———————— 



  

D–2349   

DISTANCE EDUCATION 

(Common for M.Com./M.Com. (F & C) DEGREE 
EXAMINATION, DECEMBER 2023. 

First Semester 

BUSINESS ENVIRONMENT 

 (CBCS 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is Economic Environment? 

 ö£õ¸Íõuõμ `ÇÀ GßÓõÀ GßÚ? 

2. What do you mean by Culture? 

 P»õa\õμ® £ØÔ }Âº AÔÁx GßÚ? 

3. What is Socialism? 

 \‰PÄøhø© GßÓõÀ GßÚ? 

4. Define Economic Planning. 
 ö£õ¸Íõuõμz vmhªhø» Áøμ¯ÖUPÄ®. 

5. Write the meaning of Joint Sector Enterprises. 
 TmkzxøÓ {ÖÁÚ[PÎß ö£õ¸øÍ GÊuÄ®. 

6. Define Privatization. 
 uÛ¯õº©¯©õUPø» Áøμ¯ÖUPÄ®. 

Sub. Code 
31014/33514
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7. What is “LPG” as per New Industrial Policy 1991? 

 ¦v¯ öuõÈÀxøÓ öPõÒøP 1991 Cß £i “LPG” GßÓõÀ 
GßÚ? 

8. What is the main function of WTO? 

 WTO Cß •UQ¯ ö\¯À£õk GßÚ? 

9. Why patents are important in technological environment? 

 öuõÈÀ~m£ `Ç¼À Põ¨¦›ø© Hß •UQ¯©õÚx? 

10. Write two examples of corporate securities. 

 Põº¨£÷μm £zvμ[PÎß Cμsk Euõμn[PøÍ GÊuÄ®. 

PART B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) Explain the significance of the business 
environment. 

   ÁoPa `Ç¼ß •UQ¯zxÁzøu ÂÍUPÄ®. 

Or 

 (b) Write down the characteristic features of the 
business environment. 

  ÁoPa `Ç¼ß ]Ó¨¤¯À¦ A®\[PÒ £ØÔ GÊxP. 

12. (a) What are the characteristics of Economic Systems? 

   ö£õ¸Íõuõμ Aø©¨¦PÎß £s¦PÒ ¯õøÁ? 

Or 

 (b) What does economic planning entail? 

  ö£õ¸Íõuõμ vmhªhÀ GøuU SÔUQÓx? 
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13. (a) What are the pros of public sector undertakings? 

   ö£õxzxøÓ {ÖÁÚ[PÎß |ßø©PÒ ¯õøÁ? 

Or 

 (b) What are the merits and demerits of Privatization? 
  uÛ¯õº©¯©õUP¼ß |ßø©PÒ ©ØÖ® wø©PÒ 

¯õøÁ? 

14. (a) Write up the essential features of Indian Contract 
Act 1872. 

  C¢v¯ J¨£¢ua \mh® 1872 Cß Azv¯õÁ]¯ 
A®\[PøÍ GÊuÄ®. 

Or 

 (b) What are the factors that govern the Technological 
Environment? 

  öuõÈÀ~m£ `Çø» {ºÁQUS® PõμoPÒ ¯õøÁ? 

15. (a) What are the major objectives of Consumer 
Protection Act, 1986? 

   ~Pº÷Áõº £õxPõ¨¦a \mh® 1986Cß •UQ¯ 
÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) What are the types of Industrial Finance? 
  öuõÈÀxøÓ {v°ß ÁøPPÒ ¯õøÁ? 

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Define Social Responsibility. Discuss the forces which are 
responsible for increasing concern of business enterprises 
toward social responsibility. 

 \‰P¨ ö£õÖ¨ø£ Áøμ¯ÖUPÄ®. \‰P¨ ö£õÖ¨¦nºøÁ 
÷|õUQ¯ ÁoP {ÖÁÚ[PÎß AUPøÓø¯ 
AvP›¨£uØSU Põμn©õÚ \UvPøÍ¨ £ØÔ ÂÁõvUP. 
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17. Define Economic System. What are the various types of 
Economic Systems? 

 ö£õ¸Íõuõμ Aø©¨ø£ Áøμ¯ÖUPÄ®. £À÷ÁÖ 
ÁøP¯õÚ ö£õ¸Íõuõμ Aø©¨¦PÒ ¯õøÁ? 

18. Discuss the benefits and arguments against the 
Privatization in India. 

 C¢v¯õÂÀ uÛ¯õº©¯©õUP¾US GvμõÚ |ßø©PÒ 
©ØÖ® Áõu[PøÍ¨ £ØÔ ÂÁõvUP. 

19. Explain the New Industrial Policy 1991. 

 ¦v¯ öuõÈÀ öPõÒøP 1991 £ØÔ ÂÍUPÄ®. 

20. What is Industrial Finance? Explain the sources of 
Industrial Finance. 

 öuõÈÀxøÓ {v GßÓõÀ GßÚ? öuõÈÀxøÓ {v 
Buõμ[PøÍ ÂÍUSP. 

 

———————— 
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M.Com. (F & C) DEGREE EXAMINATION, DECEMBER 2023. 

Second Semester 

OPERATIONS RESEARCH 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define O.R. 

2. What is LPP? 

3. What do you understand by duality? 

4. Write short note on integer programming problem. 

5. Define dominance. 

6. What is transportation problem? 

7. What is big M-Method? 

8. Define maximum flow. 

9. Classify queuing models. 

10. What is PERT? 
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33521 
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PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 
11. (a) What are characteristics of O.R. techniques? 

Or 
 (b) Explain the meaning of a linear programming 

problem stating its uses and limitations. 
12. (a) Solve the linear programming problem : 
  Max. 21 43 xxZ +=  

  Subject to  

  

.0,

35.2

0

21

21

21

≥
−≤−

≥−

xx
xx
xx

 

Or 
 (b) Solve the following LP problem using simplex 

method : 
  Max. 321 201510 xxxZ ++=  

  Subject to  

  

.0,,

,30693

,24642

321

321

321

≥
≤++
≤++

xxx
xxx
xxx

 

13. (a) Determine an initial basic feasible solution to the 
following transportation problem using row minimal 
method : 

  To Availability

 A 5 2 4 3 22 

From B 4 8 1 6 15 

 C 4 6 7 5 8 

Demand  7 12 17 9  

Or 

 (b) What are types of integer programming problems? 
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14. (a) Solve the following assignment problem. 
 I II III IV V 

1 11 17 8 16 20

2 9 7 12 6 15

3 13 16 15 12 16

4 21 24 17 28 26

5 14 10 12 11 15

Or 

 (b) Explain unbalanced assignment problem.  

15. (a) Explain the theory of dominance in the solution of 
rectangular games. 

Or 

 (b) Solve the following integer programming problem : 
  Max. 21 2xxZ +=  

  Subject to  

  

.0,

,1434

,122

21

21

21

≥
≤+
≤+

xx
xx
xx

 

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Apply graphical method to solve the L.P.P. 
 Maximize 21 2xxZ −=  

 Subject to  

 

.42

,50

2446

1

2

1

21

21

≤≤
≤≤

≥+
≤+−

x
x
xx
xx
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17. Discuss the types of simulation models. 

18. Solve the following transportation problem by north west 
corner rule : 

 F1 F2 F3 Supply

W1 2 7 4 5 

W2 3 3 1 8 

W3 5 4 7 7 

W4 1 6 2 14 

Demand 7 9 18  

19. Explain the advantages, disadvantages and applications 
of simulation. 

20. Explain the scope of O.R. 

———————— 
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Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What do you mean by human behaviour? 

2. State the meaning of perception. 

3. Write short note on sensation. 

4. Write short note on work stress. 

5. How decision making is important in an organisation? 

6. Write short note on organisational conflict. 

7. What is meant by Emotions? 

8. State the concept of Impression Management. 

9. Mention the meaning of organisational conflict. 

10. What do you mean by Knowledge Management? 

Sub. Code 
33522 



D–2364 
  2

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Discuss the models in organisational behaviour. 

Or 

 (b)  What are the qualities of perceiver? 

12. (a) Narrate the nature of attitude. 

Or 

 (b)  Distinguish between formal and informal groups.  

13. (a) Explain the causes of stress in organization. 

Or 

 (b)  State the factors influence organisational change. 

14. (a) Explain the causes of conflicts in organization. 

Or 

 (b)  Narrate the limitations of Emotional Intelligence. 

15. (a) What are the nature of organisational politics? 

Or 

 (b)  State the dimensions of knowledge management. 

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. “Behaviour becomes generally predictable through 
organisational behaviour” – Discuss. 

17. Why should we study personality? What are the major 
determinants of personality? 
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18. Explain how groups are formed with the help of theories 
of group formation. 

19. Explain how to overcome negative impact of 
organisational conflicts? 

20. Discuss the types of communication? Is downward 
advantageous to an organisation. 

———————— 
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ADVANCED COST ACCOUNTING 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define costing. 

 AhUPÂø»°¯ø» Áøμ¯ÖUP. 

2. What is meant by stores ledger? 

 Qh[S ÷£÷μk £ØÔ AÔÁx GßÚ? 

3. What is merit rating? 

 uSv ©v¨¥k GßÓõÀ GßÚ? 

4. What is meant by primary distribution? 

 •uÀ{ø» £QºÄ £ØÔ AÔÁx GßÚ? 

5. What is contract costing? 

 J¨£¢u AhUPÂø»°¯À GßÓõÀ GßÚ? 

6. What is meant by abnormal gain? 

 A\õuõμn »õ£® £ØÔ AÔÁx GßÚ? 

Sub. Code 
31023/33523
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7. What is cost unit? 

 AhUPÂø» A»S GßÓõÀ GßÚ? 

8. What is meant by batch costing? 

 öuõSv AhUPÂø»°¯À £ØÔ AÔÁx GßÚ? 

9. What is variance? 

 ©õÖ£õk GßÓõÀ GßÚ? 

10. What is meant by cost control? 

 AhUP Pmk¨£õk £ØÔ AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What is cost accounting? Explain its objectives. 

   AhUPÂø»U PnUQ¯À GßÓõÀ GßÚ? Auß 
÷|õUP[PøÍ ÂÍUSP. 

Or 

 (b) Prepare a cost sheet from the following details. 

Particulars Rs. 

Materials purchased 2,00,000

Wage  1,00,000

Direct expenses 20,000

Opening stock of materials 40,000

Closing stock of materials 60,000

  Factory overhead is absorbed at 20% on wages. 
Administration overhead is 25% on works cost. 
Selling and distribution overheads are 20% on the 
cost of production. Profit is 20% on sales. 
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   ¤ßÁ¸® uPÁÀPÎ¼¸¢x AhUPÂø»z uõøÍ 
u¯õº ö\´P. 

ÂÁμ[PÒ ¹. 

Pa\õ¨ö£õ¸mPÒ Áõ[Q¯x 2,00,000

T¼ 1,00,000

÷|μia ö\»ÄPÒ 20,000

Pa\õ¨ ö£õ¸mPÎß öuõhUP \μUQ¸¨¦ 40,000

Pa\õ¨ ö£õ¸mPÎß CÖv \μUQ¸¨¦ 60,000

  öuõÈØ\õø» ÷©Øö\»ÄPÒ T¼°À 20% 
PnUQh¨£kQßÓx. {ºÁõP ÷©Øö\»ÄPÒ 
öuõÈØ\õø» ö\»ÄPÎÀ 25%, ÂØ£øÚ ©ØÖ® 
£QºÄ ÷©Øö\»ÄPÒ EØ£zva ö\»ÄPÎÀ 20%•® 
PnUQh¨£kQßÓx. C»õ£® ÂØ£øÚ°À 20% 
PnUQh¨£kQßÓx. 

12. (a) Calculate the earnings of a worker under Halsey 
premium plan and Rowan scheme. 

  Time allowed : 48 hours; time taken : 40 hours; rate 
per hour : Re. 1. 

   íõÀ÷\ ©ØÖ® ÷μõÁõß vmhzvß £i J¸ 
öuõÈ»õÎ°ß Á¸©õÚzøuU PnUQkP. 

  JxUP¨£mh ÷|μ® : 48 ©oPÒ, GkzxU öPõsh 
÷|μ® : 40 ©oPÒ J¸ ©o ÷|μ Ãu® : ¹. 1. 

Or 

 (b) A factory has three production department A, B and 
C and two service departments S1 and S2. The 
overhead costs of each of the departments are as 
under : 

Departments Costs (Rs.)
A 10,000
B 9,000
C 12,000
S1 6,000
S2 4,000
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  The costs of the service departments are to be 
apportioned as under : 

Departments A B C S1 S2 

S1 30% 20% 30% – 20%

S2 40% 40% 20% – – 

  Compute the overhead costs of each of the 
production departments. 

   J¸ öuõÈØ\õø»¯õÚx A, B ©ØÖ® C GÝ® ‰ßÖ 

EØ£zv xøÓPøÍ²® S1 ©ØÖ® S2 GÝ® Cμsk 
÷\øÁz xøÓPøÍ²® öPõskÒÍx. JÆöÁõ¸ 
xøÓPÐUS® E›¯ ÷©Øö\»ÄPÒ ¤ßÁ¸©õÖ. 

xøÓPÒ ö\»ÂÚ[PÒ (¹.)

A 10,000

B 9,000

C 12,000

S1 6,000

S2 4,000

  ÷\øÁz xøÓ°ß ö\»ÂÚ[PÒ ¤ßÁ¸©õÖ £Qº¢x 
öPõÒÍ£kQÓx. 

xøÓPÒ A B C S1 S2 

S1 30% 20% 30% – 20%

S2 40% 40% 20% – – 

  JÆöÁõ¸ EØ£zv xøÓUS©õÚ ÷©Øö\»ÄPøÍ 
PnUQkP. 

13. (a) Prepare Job No. 888 cost account. 

  Raw materials Rs. 3,400, wages 80 hours at Rs. 2.50 

  Variable overheads incurred for all jobs Rs. 5,000 
for 4,000 labour hours.  
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   £o Gs 888ß AhUP PnUøP u¯õ›UP. 

  ‰»¨ö£õ¸ÒPÒ ¹. 3,400, T¼ – 80 ©oPÒ  
¹. 2.50 Ãu®. 

  AøÚzx ÷Áø»PÐUS©õÚ ©õÖ£k® 
÷©Øö\»ÄPÒ – 4,000 EøÇ¨¦ ÷|μzvØS ¹. 5,000. 

Or 

 (b) Write short notes on : 

  (i) Normal loss 

  (ii) Abnormal loss. 

   ]Ö SÔ¨¦ ÁøμP : 

  (i) C¯À£õÚ |mh® 

  (ii) A\õuõμn |mh®. 

14. (a) What are the features of operating costing? 

   C¯UP AhUPÂø»°¯¼ß A®\[PÒ ¯õøÁ? 

Or 

 (b) From the following information prepare a cost sheet 
when the batch consists of 200 units. 

Cost of materials 12 paise per unit 
Operator’s wages Rs. 1.44 an hour 
Machine hour rate Rs. 3 
Setting up time of the machine 4 hours and 40 minutes
Manufacturing time 20 minutes per unit 

   ¤ßÁ¸® Â£μ[PøÍU öPõsk 200 A»SPøÍ 
öPõsh J¸ öuõSv°ß AhUPÂø» £mi¯ø» 
u¯õ›UP. 

‰»¨ö£õ¸mPÎß AhUPÂø» ¹. 12 ø£\õ J¸ A»SUS 

C¯US|º T¼ ¹. 1.44 J¸ ©o ÷|μzvØS 

C¯¢vμ ©o ÷|μ Ãu® ¹. 3 

C¯¢vμzøu Aø©¨£uØPõÚ ÷|μ® 4 ©o ÷|μ® ©ØÖ® 40 {ªh[PÒ

EØ£zv ÷|μ® 20 {ªh[PÒ Kº A»QØS 
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15. (a) Calculate (i) labour cost variance (ii) labour rate 
variance (iii) labour efficiency variance from the 
following : 

  Standard hours 20; standard rate Rs. 5 per hour; 
actual hours 20,500; actual production 1,000 units; 
actual rate Rs. 4.80 per hour. 

   RÌUPsh uPÁÀPÎ¼¸¢x (i) EøÇ¨¦ AhUP 

©õÖ£õk (ii) EøÇ¨¦ Ãu ©õÖ£õk (iii) EøÇ¨¦ 
vÓø© ©õÖ£õk BQ¯ÁØøÓ PnUQhÄ®. uμ 
©oPÒ 20, uμ Ãu® J¸ ©oUS ¹. 5, Esø© 
©oPÒ 20,500, Esø©¯õÚ EØ£zv 1000 
A»SPÒ, Esø© Ãu® J¸ ©oUS ¹. 4.80. 

Or 

 (b) From the following information find out the profit 
as per financial books. 

  (i) Profit as per costing books Rs. 45,030 

  (ii) Income tax provided in financial books  
Rs. 4,000 

  (iii) Bank interest (Cr) in financial books Rs. 150 

  (iv) Depreciation charged in financial books  
Rs. 2,800 

  (v) Depreciation recovered in cost books Rs. 3,000 

  (vi) Works overheads over recovered Rs. 550 

  (vii) Administration overhead under recovered  
Rs. 450 

  (viii) Interest on investments not included in the 
cost books Rs. 1,200 

  (ix) Stores adjustments credited in financial books 
Rs. 120. 
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   ¤ßÁ¸® uPÁÀPÎ¼¸¢x {v{ø» Hmiß £i 
C»õ£zøu PõsP. 

  (i) AhUPÂø» Hmiß £i C»õ£® ¹. 45,030 

  (ii) {v{ø» Hmiß £i JxUP¨£mh Á¸©õÚ Á› 
¹. 4,000 

  (iii) {v{ø» HmiÀ ÁμÄ øÁUP¨£mh Á[Q Ámi 
¹. 150 

  (iv) {v{ø» HmiÀ _©zu¨£mh ÷u´©õÚ®  
¹. 2,800 

  (v) AhUPÂø» HmiÀ «mP¨£mh ÷u´©õÚ®  
¹. 3,000 

  (vi) AvP©õP «mP¨£mh £o ÷©Øö\»ÄPÒ  
¹. 550 

  (vii) SøÓÁõP «mP¨£mh {ºÁõP ÷©Øö\»ÄPÒ  
¹. 450 

  (viii) AhUPÂø» HmiÀ ÷\ºUP¨£hõu •u½kPÒ 
«uõÚ Ámi ¹. 1,200 

  (ix) {v{ø» HmiÀ ÁμÄ øÁUP¨£mh Qh[S 
\›PmkuÀPÒ ¹. 120. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. From the following information, prepare stores ledgers 
under LIFO method. 

2016 April 1 Opening balance 100 units @ Rs. 12 each
 7 Purchases 1000 units at Rs. 13 per unit 
 8 Purchases 900 units at 14 per unit 
 12 Issue 1100 units 
 15 Issue 500 units 
 20 Purchases 600 units at 12 per unit 
 24 Issue 800 units 
 28 Issue 150 units 
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 RÌUPsh Â£μ[PÎ¼¸¢x \μUS ÷£÷μmøh ¤ßÁ¸£øÁ 
•ß ö\À (LIFO) GßÓ Ai¨£øh°À u¯õ›UPÄ®. 

2016 H¨μÀ 1 öuõhUP C¸¨¦ 100 A»SPÒ JßÖUS ¹. 12

 7 öPõÒ•uÀ 1000 A»SPÒ JßÖUS ¹. 13 

 8 öPõÒ•uÀ 900 A»SPÒ JßÖUS ¹. 14 

 12 öÁÎ±k 1100 A»SPÒ 

 15 öÁÎ±k 500 A»SPÒ 

 20 öPõÒ•uÀ 600 A»SPÒ JßÖUS ¹. 12 

 24 öÁÎ±k 800 A»SPÒ 

 28 öÁÎ±k 150 A»SPÒ 

17. Calculate the normal and overtime wages payable to a 
workman from the following data : 

Days Monday Tuesday Wednesday Thursday Friday Saturday

Hours worked 8 10 9 11 9 4 

 Normal working hours = 8 hours per day. Normal rate 
Re. 1.00 per hour 9 hours in a day at single rate and over 
9 hours in a day at double the rate (or) upto 48 hours in a 
week at single rate and over 48 hours in a week at double 
rate whichever is more beneficial to the workmen. 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x J¸ öuõÈ»õÎUS ö\¾zu 
÷Ási¯ \õuõμn ©ØÖ® ªøP ÷|μ T¼ø¯ PnUQkP. 

|õmPÒ v[PÒ ö\ÆÁõ´ ¦uß Â¯õÇß öÁÒÎ \Û

÷Áø» £õºzu 
÷|μ[PÒ 

8 10 9 11 9 4 

 C¯À£õÚ ÷Áø» ÷|μ[PÒ – |õÒ JßÖUS 8 ©oPÒ. 
\õuõμn Ãu® – J¸ ©o ÷|μzvØS ¹. 1.00. |õÒ 
JßÖUS 9 ©o ÷|μ[PÒ Áøμ \õuõμn Ãu©õS®. 9 ©o 
÷|μzvØS ÷©À ÷Áø» £õºzuõÀ \õuõμn Ãu©õÚx C¸ 
©h[PõS® AÀ»x Áõμ® JßÖUS 48 ©o ÷|μ® Áøμ 
÷Áø» £õºzuõÀ \õuõμn Ãu©õS®. 48 ©o ÷|μzvØS 
÷©À ÷Áø» £õºzuõÀ \õuõμn Ãu©õÚx C¸ ©h[PõS®. 
CÁØÔÀ GøÁ öuõÈ»õÍºPÐUS |ßø© £¯US÷©õ 
AÁØøÓ ÁÇ[P ÷Ásk®. 
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18. Product A requires three distinct processes and after the 
third process the product is transferred to finished stock. 
You are required to prepare various process accounts 
from the following information. 

 Total Process 

 Rs. I II III 

Direct material 5,000 4,000 600 400

Direct labour 4,000 1,500 1,600 900

Direct expenses 800 500 300 –

Production overheads 12,000 

 Production overheads to be allocated to different process 
on the basis of direct wages. Production during the period 
was 100 units. 

 ö£õ¸Ò A BÚx ‰ßÖ £i{ø»PøÍ öPõskÒÍx. 
‰ßÓõÁx £i{ø» •i¢u ¤ß CÖv ö£õ¸ÍõP 
©õØÓ¨£kQÓx. ¤ßÁ¸® uPÁÀPÎ¼¸¢x £À÷ÁÖ 
£i•øÓ PnUSPøÍ u¯õ›UP. 

 ö©õzu® £i•øÓPÒ 

 ¹. I II III 

÷|μi ‰»¨ö£õ¸Ò 5,000 4,000 600 400

÷|μi T¼ 4,000 1,500 1,600 900

÷|μi ö\»ÂÚ[PÒ 800 500 300 –

EØ£zv ÷©Øö\»ÄPÒ 12,000 

 EØ£zv ÷©Øö\»ÄPÍõÚx ÷|μi T¼°ß Ai¨£øh°À 
JÆöÁõ¸ £i{ø»PÐUS® £Qº¢uÎUP¨£kQÓx. 
AUPõ»zvÀ EØ£zv ö\´¯¨£mh A»SPÒ 100 BS®. 

19. From the following particulars compute material 
variances : 

Quantity of materials purchased 3,000 units

Value of materials purchased Rs. 9,000

Standard quantity of materials required 
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per tonne of output 30 units

Standard rate of material Rs. 2.50 per unit

Opening stock of raw material Nil

Closing stock of raw material 500 units

Output during the period 80 tonnes

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x ‰»¨ö£õ¸Ò ©õÖ£õmøh 
PnUQkP. 

Áõ[Q¯ ‰»¨ö£õ¸mPÎß AÍÄ 3,000 
A»SPÒ

Áõ[Q¯ ‰»¨ö£õ¸mPÎß ©v¨¦ ¹. 9,000

J¸ hß öÁÎ±møh EØ£zv ö\´ÁuØS 
÷uøÁ¨£k® {ø»¯õÚ ‰»¨ö£õ¸Ò AÍÄ 30 A»SPÒ

‰»¨ö£õ¸Îß {ø»¯õÚ Ãu® ¹. 2.50 Kº 
A»QØS

‰»¨ö£õ¸Îß öuõhUP \μUQ¸¨¦ CÀø»

‰»¨ö£õ¸Îß CÖv \μUQ¸¨¦ 500 A»SPÒ

AUPõ»zvØPõÚ öÁÎ±k 80 hßPÒ

20. From the following particulars prepare (a) a statement of 
cost of manufacture (b) a statement of profit as per cost 
accounts (c) profit and loss account in the financial books 
and (d) reconciliation statement reconciling profit as per 
cost and financial books. 

Particulars Rs. 

Opening stock of raw materials 60,000

Opening stock of finished goods 1,20,000

Purchase of raw materials 3,60,000

Stock of raw materials at the end 90,000

Stock of finished goods at the end 30,000

Wages 1,50,000
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 Calculate factory overhead at 25% on prime cost and 
office overhead at 75% on factory overhead. Actual works 
expenses amounted to Rs. 1,16,250 and actual office 
expenses amounted to Rs. 91,500. The selling price was 
fixed at a profit of 20% of the selling price. 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x (A) EØ£zv AhUPÂø» 
£mi¯À (B) AhUP PnUQ¯¼ß £i C»õ£® AÔUøP 
(C) {v{ø» Hmiß £i C»õ£|mh PnUS ©ØÖ® 
AhUPÂø» ©ØÖ® (D) {v{ø» Hmiß £i C»õ£zøu 
\›ö\´²® \›Pmk® £mi¯ø»²® u¯õ›UP. 

ÂÁμ[PÒ ¹. 

Pa\õö£õ¸ÒPÎß öuõhUP \μUQ¸¨¦ 60,000

CÖv¨ö£õ¸Îß öuõhUP \μUQ¸¨¦ 1,20,000

Pa\õö£õ¸ÒPÒ Áõ[Q¯x 3,60,000

CÖv°¾ÒÍ Pa\õö£õ¸ÒPÎß ©v¨¦ 90,000

CÖv°¾ÒÍ CÖv¨ö£õ¸ÒPÎß ©v¨¦ 30,000

T¼ 1,50,000

 •ußø© AhUPÂø»°ß «x öuõÈØ\õø» 
÷©Øö\»ÂØPõP 25%•® ©ØÖ® öuõÈØ\õø» 
÷©Øö\»Âß «x A¾Á»P ÷©Øö\»ÂØS 75%•® 
PnUQkP. Esø©¯õÚ £o ö\»ÄPÒ ¹. 1,16,250 
©ØÖ® Esø©¯õÚ A¾Á»P ö\»ÂÚ[PÒ ¹. 91,500 
BS®. C»õ£©õÚx ÂØ£øÚ Âø»°ß «x 20% GÚ 
{ºn°UP¨£kQÓx. 

 

———————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What are the constituents of money market? 

 £na \¢øu°ß EmTÖPÒ ¯õøÁ? 

2. State the need for financial innovation. 

 {v Psk¤i¨¦UPõÚ ÷uøÁPøÍ TÖP. 

3. What is speculative trading in stock market? 

 £[Sa \¢øu°À FPÁoP® Gß£x GßÚ? 

4. What are the functions of commercial banks? 

 ÁoP Á[QPÎß ö\¯À£õkPÒ ¯õøÁ? 

5. Infer the term leasing. 

 SzuøP GßÓ £uzøu FQUP. 

6. State any two differences between leasing and hire 
purchase. 

 SzuøPUS® ÁõhøP öPõÒ•u¾US® Cøh÷¯ EÒÍ 
÷ÁÖ£õkPÎÀ H÷uÝ® CμsiøÚ TÖP. 
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7. List out any two problems of credit card in India. 

 C¢v¯õÂÀ Phß Amøh°ÚõÀ HØ£k® ¤μa\øÚPÎÀ 
H÷uÝ® CμsiøÚ £mi¯¼kP. 

8. What is securitization? 

 £zvμ©¯©õUPÀ GßÓõÀ GßÚ? 

9. Mention any two advantages of housing finance. 

 Ãmk {v°ß |ßø©PÎÀ H÷uÝ® CμsiøÚ TÖP. 

10. Define the term bill discounting. 

 ©õØÖ^mk uÒÐ£i GßÓ ö\õÀø» Áøμ¯ÖUP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the differences between capital market 
and money market? 

   ‰»uÚa \¢øuUS® £na \¢øuUS® Cøh÷¯ EÒÍ 
÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) Explain the structure of capital market. 

   ‰»uÚa \¢øu°ß Pmhø©¨ø£ ÂÍUSP. 

12.  (a) Define stock exchange. Describe its features. 

   £[Sa \¢øuø¯ Áøμ¯ÖUP. Auß ]Ó¨¦ 
A®\[PøÍ ÂÁ›UP. 

Or 

 (b) Explain the various kinds of financial services 
provided by IFCI. 

   IFCI ÁÇ[S® £À÷ÁÖ ÁøP¯õÚ {va ÷\øÁPøÍ 
ÂÍUSP. 
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13.  (a) Narrate the fund based and non-fund-based 
services. 

   {v Ai¨£øh°»õÚ ©ØÖ® {v AÀ»õu 
÷\øÁPøÍ ÂÁ›UP. 

Or 

 (b) Enumerate the functions of underwriters in capital 
market. 

   ‰»uÚa \¢øu°À J¨¦Öv¯õÍºPÎß 
ö\¯À£õkPøÍ ©v¨¤kP. 

14.  (a) Point out the various types of mutual fund schemes. 

   £μì£μ {v vmh[PÎß £À÷ÁÖ ÁøPPøÍ 
SÔ¨¤kP. 

Or 

 (b) Assess the operational guidelines of SEBI on 
merchant banking. 

   ÁoP Á[Q°À SEBI °ß ö\¯À£õmk 
ÁÈPõmkuÀPøÍ ©v¨¤k ö\´P. 

15.  (a) Describe the features of credit rating services. 

   Phß ©v¨¥k ÷\øÁPÎß A®\[PøÍ ÂÁ›UP. 

Or 

 (b) Briefly explain the various types of export finance. 

   HØÖ©v {v°ß £À÷ÁÖ ÁøPPøÍ _¸UP©õP 
ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the strengthens and weaknesses of the finance 
companies. Suggest measures for its improvement. 

 {v {ÖÁÚ[PÎß £»® ©ØÖ® £»ÃÚ[PøÍ ÂÍUSP. 
Auß •ß÷ÚØÓzvØPõÚ |hÁiUøPPøÍ £›¢xøμa 
ö\´P. 
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17. Critically examine the role of commercial banks in 
financing of our economic development. 

 |©x ö£õ¸Íõuõμ ÁÍºa]US {v¯Î¨£vÀ ÁoP 
Á[QPÎß £[øP Â©º\Ú Ÿv¯õP Bμõ´P. 

18. Elaborate the various steps involved in marketing 
security through new issue market. 

 ¦v¯ öÁÎ±mk \¢øu ‰»® \¢øu¨£kzxÁvÀ EÒÍ 
£õxPõ¨¤ß £À÷ÁÖ £iPøÍ Â›ÁõPU TÖP. 

19. Assess the different stages of venture capital firm 
finances the requirements of the companies which 
approach it for financing. 

 Chº öuõÈÀ •uÀ {ÖÁÚ® {v¯Î¨£uØPõÚ £À÷ÁÖ 
{ø»PøÍ ©v¨¤kP, Aøu {v²uÂUPõP AqS® 
{ÖÁÚ[PÎß ÷uøÁPøÍ GÊxP. 

20. Critically evaluate the operational guidelines of RBI on 
NBFC. 

 NBFC CÀ RBI Cß ö\¯À£õmk ÁÈPõmkuÀPøÍ 
Â©º\Ú Ÿv¯õP ©v¨¤kP. 

 

 

  

———————— 



 

  

D–2354     

DISTANCE EDUCATION 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define investment. 

 •u½møh Áøμ¯ÖUPÄ®. 

2. What is capital market? 

 ‰»uÚa \¢øu GßÓõÀ GßÚ? 

3. What do you mean by call option? 

 AøÇzuÀ Â¸¨£® £ØÔ }Âº AÔÁx GßÚ? 

4. Define investment analysis. 

 •u½mk £S¨£õ´øÁ Áøμ¯ÖUPÄ®. 

5. Expand “CAPM”. 

 “CAPM” I Â›ÁõUSP. 

6. What do you mean by technical analysis? 

 öuõÈÀ~m£ £S¨£õ´Ä £ØÔ }Âº AÔÁx GßÚ? 
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7. Define mutual fund. 

 £μì£μ {v Áøμ¯ÖUPÄ®. 

8. What do you mean by listing of securities? 

 ¤øÚ¯[PøÍ £mi¯¼kuÀ £ØÔ }Ãº AÔÁx GßÚ? 

9. Write any two difference between equity share and 
preference share. 

 \õuõμn £[S ©ØÖ® •ßÝ›ø© £[S Cøh÷¯ H÷uÝ® 
Cμsk Âzv¯õ\zøu GÊxP. 

10. Expand NSE. Where it is located in India? 

 NSE I Â›ÁõUSP. Ax C¢v¯õÂÀ G[SÒÍx? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the differences between investment and 
speculation? 

   •u½miØS® FPÁoPzvØS® EÒÍ ÷ÁÖ£õkPÒ 
¯õøÁ? 

Or 

 (b) Why portfolio performance evaluation is needed? 

   ÷£õºmL÷£õ¼÷¯õ ö\¯ÀvÓß ©v¨¥k Hß 
÷uøÁ¨£kQÓx? 

12.  (a) What are the merits and demerits of options? 

   Â¸¨£[PÎß |ßø©PÒ ©ØÖ® wø©PÒ ¯õøÁ? 

Or 

 (b) Write a short note on OTCEI. 

   OTCEI £ØÔ J¸ ]Ö SÔ¨ø£ GÊuÄ®. 
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13.  (a) What are the strategic tools used in industry 
analysis? 

   öuõÈÀ £S¨£õ´ÂÀ £¯ß£kzu¨£k® ‰÷»õ£õ¯ 
P¸ÂPÒ ¯õøÁ? 

Or 

 (b) Write a short note on efficient market hypothesis. 

   vÓø©¯õÚ \¢øu AÝ©õÚzøu £ØÔ¯ ]Ö SÔ¨ø£ 
GÊuÄ®. 

14.  (a) What are the merits of listing of securities in a stock 
market? 

   £[Sa \¢øu°À £zvμ[PøÍ AmhÁøn¨ 
£kzxÁuØPõÚ uSvPÒ ¯õøÁ? 

Or 

 (b) What are the types of portfolio management? 

   öuõS¨¦ ÷©»õsø©°ß ÁøPPÒ ¯õøÁ? 

15.  (a) Write a short note on Markovitz portfolio theory. 

   ©õº÷PõÂmì ÷£õºmL÷£õ¼÷¯õ ÷Põm£õk £ØÔ J¸ 
]Ö SÔ¨ø£ GÊuÄ®. 

Or 

 (b) Write the features of primary market. 

   •ußø© \¢øu°ß A®\[PøÍ GÊuÄ®. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain briefly the types of risks. 

 A£õ¯[PÎß ÁøPPøÍ _¸UP©õP ÂÍUSP. 

17. Explain the role and functions of SEBI. 

 ö\¤°ß £[S ©ØÖ® ö\¯À£õkPøÍ ÂÍUPÄ®. 



D–2354 

 

  4

18. Explain Dow theory in detail. 

 hÆ v¯›ø¯ Â›ÁõP ÂÍUPÄ®. 

19. Explain the different investment avenues available in 
India. 

 C¢v¯õÂÀ QøhUS® £À÷ÁÖ •u½mk ÁÈPøÍ 
ÂÍUSP. 

20. Describe the various tools and techniques used in 
technical analysis. 

 öuõÈÀ~m£ £S¨£õ´ÂÀ £¯ß£kzu¨£k® £À÷ÁÖ 
P¸ÂPÒ ©ØÖ® ~m£[PøÍ ÂÁ›UPÄ®. 

 

 

  

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define the term financial management. 

 {v ÷©»õsø© GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 

2. What are the main elements of financial system? 

 {v Aø©¨¤ß •UQ¯ TÖPÒ ¯õøÁ? 

3. State the various types of financial decisions. 

 £À÷ÁÖ ÁøP¯õÚ {v •iÄPøÍ TÓÄ®. 

4. What is working capital? 

 |øh•øÓ ‰»uÚ® GßÓõÀ GßÚ? 

5. State the meaning of cost of capital. 

 ‰»uÚa ö\»Âß ö£õ¸øÍU TÓÄ®. 

6. Define capital structure. 

 ‰»uÚ Pmhø©¨ø£ Áøμ¯ÖUPÄ® 
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7. What is capital gearing? 

 ‰»uÚ ö£õ¸zxuÀ GßÓõÀ GßÚ? 

8. Name various theories of capital structure. 

 ‰»uÚ Pmhø©¨¤ß £À÷ÁÖ ÷Põm£õkPøÍ ö£¯›kP. 

9. What is leverage? 

 ö|®¦÷PõÀ P¸Â GßÓõÀ GßÚ? 

10. Define dividend policy. 

 DÄzöuõøP öPõÒøPø¯ Áøμ¯ÖUPÄ®. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) State the importance of financial management. 

   {v ÷©»õsø©°ß •UQ¯zxÁzøu SÔ¨¤hÄ®. 

Or 

 (b) Explain various types of debentures. 

   Phß £zvμ[PÎß £À÷ÁÖ ÁøPPøÍ ÂÍUPÄ®. 

12.  (a) Mention the advantages and disadvantages of 
preference shares. 

   •ßÝ›ø©¨ £[SPÎß |ßø©PÒ ©ØÖ® 
wø©PøÍU SÔ¨¤hÄ®. 

Or 

 (b) What are the important sources of short term 
finance? 

   SÖQ¯ Põ» {vUPõÚ •UQ¯ Buõμ[PÒ ¯õøÁ? 
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13.  (a) Indicate the concepts of working capital. 

   |øh•øÓ ‰»uÚzvß P¸zxUPøÍU SÔ¨¤hÄ®. 

Or 

 (b) Explain the various approaches for determining the 
financing mix.  

   {v²uÂ P»øÁø¯ wº©õÛ¨£uØPõÚ £À÷ÁÖ 
AqS •øÓPøÍ ÂÍUSP. 

14.  (a) What is cost of retained earning? How is it 
ascertained? 

   uUPøÁzu Á¸Áõ°Ú ö\»Ä GßÓõÀ GßÚ? Ax 
GÆÁõÖ PshÔ¯¨£kQÓx? 

Or 

 (b) Critically examine the net income and net operating 
income approach to capital structure. 

   ‰»uÚ Pmhø©¨¤ØPõÚ {Pμ Á¸©õÚ® ©ØÖ® {Pμ 
C¯UP Á¸©õÚ AqS•øÓø¯ Â©º\Ú Ÿv¯õP 
Bμõ´P. 

15.  (a) What do you understand by financial leverage? 
State its significance. 

   {v°¯À ö|®¦÷PõÀ P¸Â £ØÔ }[PÒ AÔÁx 
GßÚ? Auß •UQ¯zxÁzøu TÖP. 

Or 

 (b) State the assumptions of MM hypothesis. 

   MM P¸x÷PõÎß AÝ©õÚ[PøÍU SÔ¨¤hÄ®. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the sources from which a large sized industrial 
enterprise can raise capital for its various requirement. 

 J¸ ö£›¯ AÍÂ»õÚ öuõÈÀ {ÖÁÚ® Auß £À÷ÁÖ 
÷uøÁPÐUS ‰»uÚzøu vμmk® Buõμ[PøÍ ÂÍUSP. 
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17. “The analysis of working capital helps in the effectiveness 
of business management” – Elucidate. 

 ‘‘£o ‰»uÚzvß £S¨£õ´Ä ÁoP {ºÁõPzvß 
ö\¯ÀvÓÝUS EuÄQÓx’’ & öuÎÄ£kzxP. 

18. Discuss the merits and demerits of weighted average cost 
of capital. 

 \μõ\› ‰»uÚa ö\»Âß |ßø©PÒ ©ØÖ® wø©PøÍ¨ 
£ØÔ ÂÁõvUPÄ®. 

19. Explain the modigliani and miller approach to capital 
structure. 

 ‰»uÚ Pmhø©¨¤ØPõÚ ÷©õiQ¼¯õÛ ©ØÖ® ªÀ»º 
AqS•øÓø¯ ÂÍUSP. 

20. What do you mean by operating leverage? State its 
significance. 

 C¯UP ö|®¦÷PõÀ P¸Â £ØÔ AÔÁx GßÚ? Auß 
•UQ¯zxÁzøu TÖP. 

 

 

  

———————— 



 

  

D–2356     

DISTANCE EDUCATION 

COMMON FOR M.Com./M.Com.(F&C) DEGREE 
EXAMINATION, DECEMBER 2023. 

Third Semester 

PRINCIPLES OF PERSONNEL MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. State any two objectives of personnel management. 

 £o¯õÍº ÷©»õsø©°ß H÷uÝ® Cμsk ÷|õUP[PøÍ 
TÖP. 

2. What is meant by job specification? 

 ÷Áø» ÂÁμUSÔ¨¦ £ØÔ AÔÁx GßÚ? 

3. Define the term man power planning. 

 ©Ûu \Uv vmhªhÀ GßÓ ö\õÀø» Áøμ¯ÖUP. 

4. What do you mean by demotion? 

 £uÂ CÓUP® £ØÔ }Âº AÔÁx GßÚ? 

5. Mention any three advantages of performance appraisal. 

 ö\¯ÀvÓß ©v¨¥miß H÷uÝ® ‰ßÖ |ßø©PøÍU 
SÔ¨¤kP. 

6. What are the types of leadership? 

 uø»ø©zxÁzvß ÁøPPÒ ¯õøÁ? 

Sub. Code 
31033/33533



D–2356 

 

  2

7. State the elements of job satisfaction. 

 ÷Áø» v¸¨v°ß TÖPøÍU TÖP. 

8. What is an industrial accident? 

 öuõÈÀxøÓ Â£zx GßÓõÀ GßÚ? 

9. What is collective bargaining? 

 Tmk ÷£μ® GßÓõÀ GßÚ? 

10. Define personnel audit. 

 £o¯õÍº uoUøPø¯ Áøμ¯ÖUP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the methods of job evaluation? Explain. 

   ÷Áø» ©v¨¥k •øÓPÒ ¯õøÁ? ÂÍUSP. 

Or 

 (b) Bring out the characteristics of human resource 
planning. 

   ©Ûu ÁÍ vmhªh¼ß ]Ó¨¤¯À¦PøÍ 
öÁÎUöPõnºP. 

12.  (a) Briefly explain the organization structure of the HR 
department. 

   HR xøÓ°ß Aø©¨¦ Pmhø©¨ø£ _¸UP©õP 
ÂÍUSP. 

Or 

 (b) Mention the principles of recruitment. 

   Bm÷\º¨¤ß öPõÒøPPøÍ SÔ¨¤kP. 
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13.  (a) List out the methods of wage payment system. 
   Fv¯ ö\¾zuÀ •øÓ°ß •øÓPøÍ £mi¯¼kP. 

Or 

 (b) Describe briefly the Abraham Maslow’s theory of 
motivation. 

   B¤μPõ® ©õì÷»õÂß FUSÂzuÀ ÷Põm£õmøh 
_¸UP©õP ÂÁ›UP. 

14.  (a) What are the methods of improve morale? Explain. 
   ©Ú EÖvø¯ ÷©®£kzx® •øÓPÒ ¯õøÁ? 

ÂÍUSP.  

Or 

 (b) State the desirable features of grievance procedure. 
   ÷Põ›UøP |øh•øÓ°ß Â¸®£zuUP C¯À¦PøÍ 

TÖP. 

15.  (a) Outline the importance of industrial relations. 
   öuõÈÀxøÓ EÓÄPÎß •UQ¯zxÁzøu ÷PõimkU 

PõmkP. 

Or 

 (b) Bring out the essentials of good personnel record. 
   |À» £o¯õÍº £vÂß Azv¯õÁ]¯[PøÍ öÁÎU 

öPõnºP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the functions of personnel management. 
 £o¯õÍº ÷©»õsø©°ß £oPøÍ ÂÍUSP. 

17. Describe the essential features of good training 
programme. 

 |À» £°Ø]z vmhzvß Azv¯õÁ]¯ C¯À¦PøÍ 
ÂÁ›UP. 



D–2356 

 

  4

18. Elucidate the methods of performance appraisal. 

 ö\¯ÀvÓß ©v¨¥miß •øÓPøÍ GkzxøμUP. 

19. Discuss the different types of leadership. 

 £À÷ÁÖ ÁøP¯õÚ uø»ø©zxÁzøu¨ £ØÔ ÂÁõvUP. 

20. Enumerate the objectives and functions of trade unions. 

 öuõÈØ\[P[PÎß ÷|õUP[PÒ ©ØÖ® £oPøÍ 
PnUQkP. 

 

 

  

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What do you mean by Buy back of shares? 
 £[SPøÍ v¸®£¨ö£ÖuÀ £ØÔ }Ãº AÔÁx GßÚ? 

2. What is meant by preference shares? 
 •ßÝ›ø© £[SPÒ £ØÔ AÔÁx GßÚ? 

3. What is unclaimed dividend? 
 ÷Põμ¨£hõu £[Põuõ¯® GßÓõÀ GßÚ? 

4. What is meant by super profit method? 
 E¯º C»õ£ •øÓ £ØÔ AÔÁx GßÚ? 

5. What is absorption? 
 Dº¨¦ GßÓõÀ GßÚ? 

6. What do you mean by purchase consideration? 
 öPõÒ•uÀ ©Ö£¯ß £ØÔ }Ãº AÔÁx GßÚ? 

7. What is holding company? 
 ¤i¨¦ {Ö•® GßÓõÀ GßÚ? 
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8. What is meant by liquidation? 

 Pø»¨¦ £ØÔ AÔÁx GßÚ? 

9. What is contingent liability? 

 {PÌÄøh ö£õÖ¨¦ GßÓõÀ GßÚ?  

10. What is meant by human resource accounting? 

 ©Ûu ÁÍ PnUQ¯À £ØÔ AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Prasanthi Ltd., issued 20,000, 5% debentures of  
Rs. 100 each for public subscription. The issue was 
underwritten as follows : 

Satyam – 20% Samy – 30% Saravanan – 30%

  The company received a total numbers of 14,000 
applications in which marked applications were as 
follows : 

Satyam – 3,000 Samy – 4,000 Saravanan – 4,000

  Determine the liability of each of the underwriter. 

   20,000 5% PhÜmk¨ £zvμ[PÒ ¹. 100 Ãu® 
¤μ\õ¢v ¼ªöhm öÁÎ°mhx. öÁÎ°h¨£mh 
Phß £zvμ[PøÍ ¤ßÁ¸©õÖ Áõ[QU öPõÒÍ 
J¨¦Öv ö\´¯¨£kQßÓÚ. 

\zv¯® – 20% \õª – 30% \μÁnß – 30%

  {Ö©® 14,000 Âsn¨£[PøÍ ö£ØÓx. AvÀ 
SÔ°h¨£mh Âsn¨£[PÒ ¤ßÁ¸©õÖ. 

\zv¯® – 3,000 \õª – 4,000 \μÁnß – 4,000

  Phß £zvμ[PøÍ GkzxU öPõÒÍ J¨¦Öv¯õÍº 
ö£õÖ¨¦PøÍ {ºn°UPÄ®. 

Or 
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 (b) Explain in detail the important provisions relating 
to redemption of preference shares. 

   •ßÝ›ø© £[SPøÍ «mP ÷uøÁ¯õÚ \μzxPøÍ 
ÂÍUP©õP ÂÁ›UP. 

12. (a) Draw a specimen form of profit and loss account. 
   C»õ£ |mh PnUQß ©õv› £iÁzøu ÁøμP. 

Or 

 (b) Calculate the amount of goodwill on the basis of  
2 years purchase of the last five years average 
profits. The profits for the last five years are : 4,100; 
5,250; 2,550; 3,850; 6,000. 

   Ph¢u 5 BskPÎß \μõ\› C»õ£zvÀ 2 Bsk 
öPõÒ•uÀ GßÓ Ai¨£øh°À |Øö£¯›ß 
©v¨ø£U PnUQkP. Ph¢u 5 BskPÎß C»õ£® 
Á¸©õÖ : ¹. 4,100, ¹. 5,250, ¹. 2,550, ¹. 3,850, 
¹. 6,000. 

13. (a) The company B takes over the business of company 
A. The value agreed for various assets is goodwill 
Rs. 44,000, land and buildings Rs. 50,000. Plant and 
machinery Rs. 48,000, stock Rs. 26,000, debtors  
Rs. 16,000. B company does not take over cash but 
agrees to assume the liability of sundry creditors at 
Rs. 10,000. Calculate purchase consideration. 

   A {Ö©zvß Â¯õ£õμzøu B {Ö©® GkzxU 
öPõshx. GkzxU öPõÒÍ J¨¦U öPõsh ö\õzvß 
©v¨¦ ¤ßÁ¸©õÖ |Øö£¯º ¹. 44,000, {»® ©ØÖ®  
Pmih® ¹. 50,000. uÍÁõh® ©ØÖ® C¯¢vμ®  
¹. 48,000 \μUQ¸¨¦ ¹. 26,000 PhÚõÎPÒ  
¹. 16,000 B {Ö©® öμõUPzøu Gkzx 
öPõÒÍÂÀø». BÚõÀ ¹. 10,000 ©v¨¦ÒÍ 
PhÜ¢÷uõº ö£õÖ¨ø£ HØÓx. öPõÒ•uÀ £¯øÚ 
PnUQhÄ®.  

Or 

 (b) What are the different methods of capital reduction? 
   £[SPøÍ SøÓ¨£vß £À÷ÁÖ •øÓPÒ ¯õøÁ? 
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14. (a) From the following balance sheets of holding 
company and subsidiary company, prepare a 
consolidated balance sheet of holding company and 
its subsidiary company. 

Liabilities H  S Assets H S 

Share capital 
(Rs. 10 each) 20,00,000 10,00,000

Investment of Rs. 10
each in subsidiary
company 10,00,000 –

Liabilities 15,00,000 2,00,000Sundry assets 25,00,000 12,00,000

 35,00,000 12,00,000 35,00,000 12,00,000

   R÷Ç öPõkUP¨£mkÒÍ ¤i¨¦ ©ØÖ® Auß xøn 
{Ö©zvß C¸¨¦{ø»U SÔ¨¤¼¸¢x ¤i¨¦ ©ØÖ® 
Auß xøn {Ö©zvß J¸[QønUP¨£mh 
C¸¨¦{ø»U SÔ¨¤øÚz u¯õ›UPÄ®. 

ö£õÖ¨¦PÒ H  S ö\õzxUPÒ H S 

£[S•uÀ 
¹. 10 Ãu® 

 
20,00,000 10,00,000

xøn 
{Ö©zvß 
•u½kPÒ 
¹. 10 Ãu® 10,00,000 –

ö£õÖ¨¦PÒ 15,00,000 2,00,000£Ø£» 
ö\õzxUPÒ 25,00,000 12,00,000

 35,00,000 12,00,000 35,00,000 12,00,000

Or 

 (b) The following particulars relate to a Ltd. company 
which has gone into voluntary liquidation. The 
liquidator is entitled to get 2% on the amount 
distributed to unsecured creditors other than 
preferential. You are required to prepare the 
liquidators final account. 

Particular Rs. 

Preferential creditors 40,000

Unsecured creditors 1,28,000

Debentures 40,000
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The assets realized are : 

Land and buildings 80,000

Plant and machinery 74,600

Furniture and fittings 4,000

Liquidation expenses  4,000

   ¤ßÁ¸® uPÁÀPÍõÚx uõÚõP Pø»UP¨£mh J¸ 
{Ö©zvØS›¯x. •ßÝ›ø© PhÜ¢÷uõ¸US 
AÎUP¨£mh öuõøPø¯ uÂμ ¤øn¯ªÀ»õ 
PhÜ¢÷uõ¸US ÁÇ[P¨£mh öuõøP°ß 2% Fv¯® 
ö£Ó Pø»¨£õÍ¸US E›ø© Esk. Cv¼¸¢x 
Pø»¨£õÍ›ß CÖv PnUøP u¯õº ö\´P. 

ÂÁμ[PÒ ¹. 

•ßÝ›ø© PhÜ¢÷uõº 40,000

¤øn°ªÀ»õ PhÜ¢÷uõº 1,28,000

PhÜmk £zvμ® 40,000

ÂØP¨£mh ö\õzxUPÒ ¤ßÁ¸©õÖ :

{»® ©ØÖ® Pmih® 80,000

ö£õÔ ©ØÖ® C¯¢vμ® 74,600

AøÓP»ß ©ØÖ® ö£õ¸zxPÒ 4,000

Pø»¨¦a ö\»ÄPÒ 4,000

15. (a) From the following details relating to baking 
company, find out the profit balance carried over to 
the balance sheet. 

Interest earned 5,25,000

Other incomes 2,20,440

Interest expended 1,25,000

Operating expenses 1,83,686

Profit brought forward from the previous year 1,00,640

  Transfer to the statutory reserve at 25%. 
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   R÷Ç öPõkUP¨£mkÒÍ uPÁÀPÒ Á[Q 
{ÖÁÚzvØS›¯x. C»õ£zøu Psk¤izu 
C¸¨¦{ø»U SÔ¨÷£miÀ PõmhÄ®. 

ö£Ó¨£mh Ámi 5,25,000
Cuμ Á¸©õÚ® 2,20,440
Ámi ö\»ÁÈzux 1,25,000
ö\¯À£õmka ö\»ÂÚ[PÒ 1,83,686
Ph¢u Bsk C»õ£zøu R÷Ç CÓUP¨£mhx 1,00,640

  Pmhõ¯U Põ¨¤ØS ©õØÓ¨£mhx – 25%. 

Or 

 (b) Briefly explain any three methods which are used 
for valuation of human resources. 

   ©Ûu ÁÍzøu ©v¨¤kÁuØS £¯ß£kzuUTi¯ 
•øÓPÎÀ H÷uÝ® ‰ßÔøÚ _¸UP©õP ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. On 1st January 2007 a company issued Rs. 2,00,000, 14% 
debentures at 5% discount repayable in five years at par. 
The interest is payable half yearly on 30th June and  
31st December and the same was duly paid. On  
31st December 2007 the company purchased Rs. 20,000 
debentures at a cost of Rs. 18,900; Pass necessary journal 
entries in the books of the company upto 31st December 
2007, including closing entries on that date if the above 
redemption was out of profit. 

 01.01.2007 AßÖ J¸ {Ö©® ¹. 2,00,000, 14% PhÜmk 
£zvμzøu 5 Á¸h® PÈzx •P ©v¨¤À ö\¾zxÁuØS 5% 
uÒÐ£i°À öÁÎ°mhx, Ámi¯õÚx áüß ©õu 
CÖv°¾® i\®£º ©õu CÖv°¾® ö\¾zu¨£h 
÷Ásk®. 31.12.2007 AßÖ AUP®ö£Û¯õÚx  
¹. 20,000 ©v¨¦ÒÍ PhÜmk £zvμzøu ¹. 18,900US 
Áõ[Q¯x, ÷©ØTÔ¯ PhÜmk £zvμ©õÚx C»õ£zvÀ 
«mP¨£mhx GÚU öPõsk 31.12.2007 Áøμ°»õÚ 
SÔ¨÷£mk £vÄPøÍ u¸P. 
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17. On 31st March 2007 the balance sheet of a Bee Ltd. 
disclosed the following. 

Liabilities Rs. Assets Rs. 

Issued capital in Rs. 10 shares 4,00,000 Fixed assets 5,00,000

Reserves 90,000 Current assets 2,00,000

Profit and loss account 20,000 Good will 40,000

5% debentures 1,00,000  

Current liabilities 1,30,000  

 7,40,000  7,40,000

 On 31st March, 2007 the fixed assets were independently 
valued at Rs. 3,50,000 and the goodwill at Rs. 50,000. The 
net profits for the three years were : 2004 – 2005  
Rs. 51,600; 2005 – 2006 Rs. 52,000 and 2006 – 2007  
Rs. 62,000 of which 20% was placed to reserve. Fair 
investment return may be taken at 9%. Compute the 
value of shares by (a)  net assets method and (b) yield 
method. 

 Bee {Ö©zvß C¸¨¦{ø»U SÔ¨¦ 31.12.2007 •i¯ 
öPõkUP¨£mkÒÍx. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

öÁÎ°h¨£mh •uÀ 
(¹. 10 £[SPÎÀ) 

 
4,00,000 

{ø»a ö\õzxUPÒ

5,00,000

Põ¨¦PÒ 90,000 |h¨¦a ö\õzxUPÒ

2,00,000

C»õ£|mh P/S 20,000 ÁoP |Øö£¯º 40,000

5% Phß £zvμ[PÒ 1,00,000  

|h¨¦ ö£õÖ¨¦PÒ 1,30,000  

 7,40,000  7,40,000
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 31 ©õºa 2007&À {ø»a ö\õzxUPÒ ¹. 3,50,000US®, 
ÁoP |Øö£¯º ¹. 50,000&US® ©v¨¥k ö\´¯¨£mhÚ. 
‰ßÓõskPÎß C»õ£® ¤ßÁ¸©õÖ : 

 2004 – 2005 : ¹. 51,600, 2005 – 2006 : ¹. 52,000, 2006 
– 2007 : ¹. 62,000, CvÀ 20% Põ¨¤À øÁUP¨£mhx. 
•u½miß «x Gvº÷|õUS® Á¸©õÚ® 9% BS®. 
{Ö©zvß £[Qß ©v¨ø£ : (A) ö\õzx •øÓ ©ØÖ®  
(B) Á¸©õÚ •øÓ Ai¨£øh°À PnUQkP. 

18. The balance sheet of A Ltd as on 31st December 2007 was 
as follows : 

Liabilities Rs. Assets  Rs. 

Share capital :  Land and 
building 

2,30,000

8,000 equity shares of 
Rs. 50 each fully paid 

 
4,00,000 

Plant and 
machinery 

1,80,000

General reserve 50,000 Furniture 20,000

Workmen’s accident 
compensation fund 
(outstanding 
liabilities Rs. 8,000) 

 
 
 

30,000 

Stock 90,000

1000, 7% debentures 
of Rs. 50 each 

 
50,000 

Sundry 
debtors 1,00,000

Sundry creditors 40,000 Less : 
provisions for 
doubtful 
debts 5,000 95,000

Bank overdraft 10,000 Cash 2,000

Staff provident fund 40,000 Discount on 
issue of 
debenture 3,000

 6,20,000  6,20,000



D–2357 
  9

 The business of the company is taken over by B Ltd., on 
the date. The purchase consideration is to be discharged 
as follows. 

 (a) A payment in cash at Rs. 10 for every share in A 
Ltd. 

 (b) A further payment in cash at Rs. 60 for every 
debenture in A Ltd., in full discharge of the 
debentures. 

 (c) An exchange of 5 shares in B Ltd. of Rs. 10 each at 
the market value of Rs. 15 per share, for every 2 
shares in A Ltd. 

  The expenses of liquidation Rs. 5,000 were borne by 
A Ltd. Show the realization a/c, cash a/c and the 
sundry shareholders a/c in the books of A Ltd. 

 i\®£º 31, 2007 AßøÓ¯ A {Ö©zvß C¸¨¦{ø» 
SÔ¨¦ ¤ßÁ¸©õÖ : 
ö£õÖ¨¦PÒ ¹. ö\õzxPÒ  ¹. 

£[S •uÀ :  {»® ©ØÖ® 
Pmih® 

2,30,000

8,000 ö£õx{ø» 
£[SPÒ JßÖ ¹. 50 
Ãu® •ØÔ¾® 
ö\¾zu¨£mhøÁ 

 
 

4,00,000 

ö£õÔ ©ØÖ® 
C¯¢vμ® 

1,80,000

ö£õx Põ¨¦ 50,000 AøÓP»ß 20,000
£o¯õÍº Â£zx |èh 
Dk {v (öPõk£h 
÷Ási¯ ö£õÖ¨¦ 
¹. 8,000) 

 
 

30,000 

\μUQ¸¨¦ 90,000

1000, 7% 
PhÜmk¨£zvμ® JßÖ 
¹. 50 Ãu® 

 
50,000 

£Ø£»PhÚõÎPÒ 1,00,000

£Ø£» PhÜ¢÷uõº 40,000 (–) Áõμõ I¯UPhß 
JxUS 5,000 95,000

Á[Q ÷©ÀÁøμ£ØÖ 10,000 öμõUP® 2,000
£o¯õÍº ÷\© |» {v 40,000 PhÜmk¨ £zvμ 

öÁÎ±mk uÒÐ£v 3,000

 6,20,000  6,20,000
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 A¢|õÎÀ A {Ö©zøu B {Ö©® GkzxU öPõshx. 
öPõÒ•uÀ ©Ö£¯ÚõÚx ¤ßÁ¸©õÖ J¨£øhUP¨£mhx. 

 (A) ‘A’ {Ö©zvÀ EÒÍ JÆöÁõ¸ £[QØS® ¹. 10 
öμõUP©õP ö\¾zu¨£mhx. 

 (B) ‘A’ {Ö©zvÀ EÒÍ PhÜmk £zvμzøu •ÊÁx® 
wº¨£uØPõP JÆöÁõ¸ PhÜmk £zvμzvØS® ¹. 60 
Ãu® öμõUP©õP ÷©¾® ö\¾zu¨£mhx. 

 (C) ‘A’ {Ö©zv¾ÒÍ JÆöÁõ¸ 2 £[SPÐUS ‘B’ 
{Ö©zvÝøh¯ 5 £[SPÒ ©õØÔP öPõÒÍ¨£mhx. 
C¨£[Qß ©v¨¦ ¹. 10 BS®. BÚõÀ AuÝøh¯ 
\¢øu ©v¨¦ £[S JßÔUS ¹. 15 BS®. 

  Pø»¨¦a ö\»ÁõÚ ¹. 5,000zøu ‘A’ {Ö©® GØÖU 
öPõÒÍ¨£mhx. wºÄ PnUS öμõUP PnUS ©ØÖ® 
£Ø£» £[SuõμºPÒ PnUøP ‘A’ {Ö©zvß HkPÎÀ 
PõmkP. 

19. On 31st March 2016 the balance sheets of H Ltd. and its 
subsidiary S Ltd. stood as follows. 

Liabilities H Ltd 
Rs. 

 S Ltd 
Rs. 

Assets H Ltd
Rs. 

S Ltd
Rs. 

Share capital 
Rs. 10 each 8,00,000

 
2,00,000 

Fixed assets 5,50,000 1,00,000

General reserve 1,50,000 70,000 75% shares in
S Ltd at cost 2,80,000 –

Profit and loss 
account 90,000

 
55,000 

Stock 80,000 90,000

Creditors 80,000 60,000 Debtors 25,000 87,000

Bills payable 40,000 20,000 Other current
assets 2,25,000 1,28,000

 11,60,000 4,05,000  11,60,000 4,05,000

 Draw a consolidated balance sheet as at 31st March 2016 
after taking into consideration the following information : 

 (a) H Ltd acquired the shares on 31st July 2015. 

 (b) S Ltd earned a profit of Rs. 45,000 for the year 
ended 31st March 2016. 
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 H ¼ªöhm ©ØÖ® Auß xønU P®ö£Û¯õÚ S 
¼ªöhmiß 31.03.2016&® |õøÍ¯ C¸¨¦{ø»U SÔ¨¦ 
¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ H 
¼ªöhm 

 S 
¼ªöhm 

ö\õzxUPÒ H 
¼ªöhm

S 
¼ªöhm

£[S•uÀ 
JßÖ ¹. 10 
Ãu® 8,00,000

 

2,00,000

{ø» ö\õzxUPÒ 5,50,000 1,00,000

ö£õxUPõ¨¦ 1,50,000  70,000S¼ªöhmiÀ 
Áõ[Q¯ 75% £[S 
(AhUPÂø»°À) 2,80,000 –

C»õ£ |mh 
PnUS 90,000

 
55,000

\μUQ¸¨¦ 80,000 90,000

PhÜ¢÷uõºPÒ 80,000  60,000PhÚõÎPÒ 25,000 87,000

ö\¾zuØS›¯ 
©õØÖa^mk 40,000

 
20,000

Cuμ |h¨¦ 
ö\õzxUPÒ 2,25,000 1,28,000

 11,60,000  4,05,000 11,60,000 4,05,000

 ¤ßÁ¸® uPÁÀPøÍ PÁÚzvÀ öPõsk 31.03.2016 
AßÖ J¸ J¸[Qøn¢u C¸¨¦{ø»U SÔ¨ø£u¯õº 
ö\´P. 

 (A) 31.07.2015 AßÖ H ¼ªöhm £[SPøÍ S 
¼ªöhihª¸¢x Áõ[Q¯x. 

 (B) S¼ªöhm ¹. 45,000 ö£Ö©õÚ C»õ£zøu 
31.03.2016 AßÖ Dmi¯x. 

20. What are the advantages and disadvantages of IFRS? 

 IFRS ß |ßø©PÒ ©ØÖ® wø©PÒ ¯õøÁ? 

 

———————— 
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MANAGEMENT ACCOUNTING 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is management accounting? 

 ÷©»õsø© PnUQ¯À GßÓõÀ GßÚ? 

2. List out the various tools used in management 
accounting. 

 ÷©»õsø© PnUQ¯¼À £¯ß£kzu¨£k® £À÷ÁÖ 
P¸ÂPøÍ £mi¯¼kP. 

3. What is financial statement? 

 {v{ø» AÔUøP GßÓõÀ GßÚ? 

4. What is operating ratio? 

 ö\¯À£õmk ÂQu® GßÓõÀ GßÚ? 

5. What is gross working capital? 

 ö©õzu |øh•øÓ ‰»uÚ® GßÓõÀ GßÚ? 

6. What do you mean by non-cash items? 

 öμõUP® \õμõu CÚ[PÒ £ØÔ AÔÁx GßÚ? 

Sub. Code 
31041/33541
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7. Define the term budget. 

 vmh £mi¯À GÝ® £uzøu Áøμ¯ÖUP. 

8. State any two objectives of budgetary control. 

 vmh£mi¯À Pmk¨£õmiß H÷uÝ® Cμsk 
÷|õUP[PøÍ TÖP. 

9. What is meant by break even analysis? 

 C»õ£|mh&©ØÓ £S¨£õ´Ä £ØÔ AÔÁx GßÚ? 

10. What is profit volume ratio? 

 C»õ£ AÍÄ ÂQu® GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) List out the various objectives of management 
accounting. 

   ÷©»õsø© PnUQ¯¼ß £À÷ÁÖ ÷|õUP[PøÍ 
£mi¯¼kP. 

Or 

 (b) What are the uses of management accounting? 

   ÷©»õsø© PnUQ¯¼ß £¯ß£õkPÒ ¯õøÁ? 

12. (a) Bring out the significance of ratio analysis. 

   ÂQu £S¨£õ´Âß •UQ¯zxÁzøu u¸P. 

Or 

 (b) A company purchases goods both on cash as well as 
credit terms. The following particulars are obtained 
from the books of accounts. 

 Rs. 

Total purchases 3,00,000

Cash purchases 30,000
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Purchases returns 10,000

Creditors at the end 1,05,000

B/P at the end 60,000

Reserve for discount on creditors 8,000

  Calculate average payment period. 

   J¸ {Ö©©õÚx ö£õ¸ÒPøÍ öμõUPzvØS®, 
PhÛØS® Áõ[SQÓx. ¤ßÁ¸® uPÁÀPÒ BÚx 
HkPÎ¼¸¢x GkUP¨£mhøÁ. 

 ¹. 

ö©õzu öPõÒ•uÀ 3,00,000

öμõUP öPõÒ•uÀ 30,000

öPõÒ•uÀ v¸¨£® 10,000

Bsk CÖv°À EÒÍ PhÜ¢÷uõºPÒ 1,05,000

Bsk CÖv°À ö\¾zxuØS›¯ ©õØÖa^mk 60,000

PhÜ¢÷uõºPÒ «uõÚ uÒÐ£i JxUS 8,000

  \μõ\› ö\¾zxuØ Põ»zøu PnUQkP. 

13. (a) From the following sheets of XYZ Ltd. prepare a 
schedule of changes in working capital. 

Liabilities 2019 
Rs. 

 2020 
Rs. 

Assets 2019
Rs. 

2020
Rs. 

Creditors 1,80,000 1,25,000 Cash 50,000 40,000

5% debentures 1,00,000 2,00,000 Debtors 30,000 15,000

Share capital 2,00,000 1,00,000 Stock 1,00,000 80,000

Profit and loss a/c 20,000 –– Short term investments1,20,000 50,000

  Fixed asset 2,00,000 2,00,000

  Profit and loss a/c –– 40,000

 5,00,000 4,25,000  5,00,000 4,25,000
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   XYZ {ÖÁÚzvß R÷Ç EÒÍ C¸¨¦{ø»U 
SÔ¨¦PøÍU öPõsk |øh•øÓ •u¼À HØ£k® 
©õØÓzøu Põmk® £mi¯ø» u¯õ›UPÄ®. 

ö£õÖ¨¦PÒ 2019 
¹. 

 2020 
¹. 

ö\õzxUPÒ 2019 
¹. 

2020 
¹. 

PhÜ¢÷uõºPÒ 1,80,000 1,25,000öμõUP® 50,000 40,000
5% Phß£zvμ[PÒ 1,00,000 2,00,000PhÚõÎPÒ 30,000 15,000
£[S •uÀ 2,00,000 1,00,000\μUQ¸¨¦ 1,00,000 80,000
C»õ£ |mh P/S 20,000 ––SÖQ¯ Põ» •u½k 1,20,000 50,000
  {ø»a ö\õzxPÒ 2,00,000 2,00,000
  C»õ£ |mh P/S –– 40,000
 5,00,000 4,25,000 5,00,000 4,25,000

Or 

 (b) Krishna Ltd., earned profit of Rs. 2,00,000 after 
charging or crediting the following items to its profit 
and loss account. 

Particulars Rs. 

Profit on sale of investments 4,000

Loss on sale of building 9,000

Depreciation of fixed assets 7,000

Amortization of goodwill 2,000

  The following additional details are available : 
 01.04.2020

Rs. 
31.03.2021

Rs. 
Bills payable 5,000 8,000
Creditors 12,000 16,000
Outstanding expenses 2,000 1,000
Bills receivable 20,000 18,000
Debtors 40,000 60,000
Prepaid expenses 2,000 3,000
Accrued incomes 5,000 8,000
Income received in advance 2,000 1,000

  Calculate the cash from operations for the year 
ending 31.03.2021. 
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  C»õ£ |mh PnUQÀ £ØÖ ©ØÖ® ÁμÄ øÁzu 

¤ßÚº Q¸ènõ ¼ªöhm ¹. 2,00,000 ö£Ö©õÚ 

»õ£zøu Dmi¯x. 

Â£μ[PÒ ¹. 

•u½kPøÍ ÂØÓvÀ »õ£® 4,000

Pmihzøu ÂØÓvÀ |mh® 9,000

{ø»a ö\õzxUPÒ «uõÚ ÷u´©õÚ® 7,000

÷£õUöPÊu¨£mh |Øö£¯º 2,000

  ¤ßÁ¸® TkuÀ uPÁÀPÒ EÒÍÚ : 

 01.04.2020
¹. 

31.03.2021
¹. 

ö\¾zuØS›¯ ©õØÖa^mk 5,000 8,000

PhÜ¢÷uõºPÒ 12,000 16,000

öPõk£h ÷Ási¯ ö\»ÄPÒ 2,000 1,000

ö£ÖuØS›¯ ©õØÖa^mk 20,000 18,000

PhÚõÎPÒ 40,000 60,000

•ßTmi ö\¾zv¯øÁ 2,000 3,000

ö£Ó÷Ási¯ Á¸©õÚ[PÒ 5,000 8,000

•ßTmi ö£ØÓ Á¸©õÚ® 2,000 1,000

  31.03.2021&B® |õ÷Íõk •i²® Põ»zvØUPõÚ 

ö\¯À£õkPÎ¼¸¢x ö£ØÓ öμõUPzøu PnUQkP. 

14. (a)  Distinguish between forecast and budget. 

   •ßÚÔÂ¨¦ ©ØÖ® vmh£mi¯ø» ÷ÁÖ¨£kzxP. 

Or 
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 (b) Prepare a production budget of X Ltd., from the 
following information. 

Estimated stock  
(in units) 

 
 

Products 

Sales as per sales  
budget 

(in units) 01.07.2017 30.06.2018

A 4,88,000 10,000 12,000

B 3,75,000 20,000 45,000

C 6,00,000 50,000 25,000

   ¤ßÁ¸® uPÁÀPÎ¼¸¢x X {Ö©zvß J¸ EØ£zv 
vmh£mi¯ø» u¯õ›UP.  

Gvº£õºUP¨£k® \μUQ¸¨¦ 
(A»SPÎÀ) 

 
 

ö£õ¸ÒPÒ 

ÂØ£øÚ 
vmh£mi¯¼ß  
£i ÂØ£øÚ 
(A»SPÎÀ) 01.07.2017 30.06.2018

A 4,88,000 10,000 12,000

B 3,75,000 20,000 45,000

C 6,00,000 50,000 25,000

15. (a) P/V ratio is 30% margin of safety ratio is %
3
1

33  and 

sales are Rs. 19,90,000. Calculate the amount of 
profit.  

   C»õ£ AÍÄ ÂQu® 30%, £õxPõ¨¦ GÀø» ÂQu® 

%
3
1

33  ©ØÖ® ÂØ£øÚ ¹. 19,90,000 GÛÀ 

C»õ£zøu PnUQkP. 

Or 

 (b) From the following information you are required to 
find out (i) Profit volume ratio (ii) Break even point 
(iii) Profit (iv) Margin of safety (v) Also calculate the 
volume of sales to earn profit of Rs. 6,000. 

  Total fixed costs Rs. 4,500, total variable cost  
Rs. 7,500, total sales Rs. 15,000.  
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   RÌUPsh Â£μ[PøÍU öPõsk ¤ßÁ¸£ÁÚÁØøÓ 
Psk¤iUP : 

  (i) C»õ£ £[PÎ¨¦ ÂQu® (ii) \©{ø»¨ ¦ÒÎ  
(iii) C»õ£® (iv) £õxPõ¨¦ GÀø» (v) ¹. 6,000 
»õ£® Dmhz ÷uøÁ¨£k® ÂØ£øÚ AÍÄ. 

  ö©õzu {ø»a ö\»ÄPÒ ¹. 4,500, ö©õzu ©õÖ® 
ö\»ÄPÒ ¹. 7,500,  ö©õzu ÂØ£øÚ ¹. 15,000. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. State the differences between management accounting 
and financial accounting. 

 ÷©»õsø© PnUQ¯¾US®, {v{ø» PnUQØS® 
Cøh÷¯²ÒÍ ÷ÁÖ£õmøhU TÖP. 

17. The ratios relating to Metro Ltd. are given as follows : 

Gross profit ratio 30% 

Stock velocity 6 months

Debtor’s velocity 3 months

Creditor’s velocity 3 months

 Gross profit for the year ending Dec 31, 2016 amounts to 
Rs. 1,20,000. 

 Closing stock is equal to opening stock. 

 Find out : (a) sales (b) closing stock (c) sundry debtors  
(d) sundry creditors. 

 ö©m÷μõ {Ö©zvß ÂQu[PÒ ¤ßÁ¸©õÖ : 

ö©õzu C»õ£ ÂQu® 30% 

\μUQ¸¨¦ _ÇØ] 6 ©õu[PÒ

PhÚõÎPÒ _ÇØ] 3 ©õu[PÒ

PhÜ¢÷uõº _ÇØ] 3 ©õu[PÒ



D–2358 
  8

 31.12.2016 AßÖ •iÁøh²® Á¸hzvØS›¯ ö©õzu 
C»õ£® ¹. 1,20,000. 

 CÖv \μUQ¸¨£õÚx öuõhUPa \μUQ¸¨¤ß öuõøPUS 
\©©õP EÒÍx. 

 PnUQkP : 

 (A) ÂØ£øÚ (B) CÖv \μUQ¸¨¦ (C) £Ø£» PhÚõÎPÒ 
(D) £Ø£» PhÜ¢÷uõºPÒ. 

18. Given below are the balance sheet of Ram Ltd., as on 
31.12.1994 and 31.12.1995. 

Liabilities 1994  1995 Assets 1994 1995 

Share capital 5,00,000  7,00,000Land and building 80,000 1,20,000

P and L a/c 1,00,000  1,60,000Machinery 5,00,000 8,00,000

General reserve 50,000  70,000Stock 1,00,000 75,000

Creditors 1,53,000  1,90,000Debtors 1,50,000 1,60,000

Bills payable 40,000  50,000Cash 20,000 20,000

Outstanding expenses 7,000  5,000 

 8,50,000  11,75,000 8,50,000 11,75,000

 Additional information : 

 (a) In 1995 depreciation on machinery Rs. 50,000 was 
charged. 

 (b) One machine which had cost Rs. 21,000 and on 
which Rs. 7,000 depreciation had been provided was 
sold in 1995 for Rs. 8,000. 

  Prepare fund flow statement. 

 ¤ßÁ¸® C¸¨¦{ø»USÔ¨£õÚx μõ® {Ö©zvß 
31.12.1994 ©ØÖ® 31.12.1995-–® |õÐUS›¯x. 

ö£õÖ¨¦PÒ 1994  1995 ö\õzxUPÒ 1994 1995 
£[S •uÀ 5,00,000  7,00,000{»® ©ØÖ®

Pmih® 80,000 1,20,000

»õ£|mh 
PnUS 1,00,000

 
1,60,000

C¯¢vμ[PÒ 5,00,000 8,00,000

ö£õxUPõ¨¦ 50,000  70,000\μUQ¸¨¦ 1,00,000 75,000
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PhÜ¢÷uõºPÒ 1,53,000  1,90,000PhÚõÎPÒ 1,50,000 1,60,000
ö\¾zxuØS›¯ 
©õØÖa^mk 40,000

 
50,000

öμõUP® 20,000 20,000

öPõk£h 
÷Ási¯ 
ö\»ÄPÒ 7,000

 

5,000

 

 8,50,000  11,75,000 8,50,000 11,75,000

 TkuÀ Â£μ[PÒ : 

 (A) 1995&À C¯¢vμzvß «x ¹. 50,000 ÷u´©õÚ® 
JxUP¨£mhx. 

 (B) ¹. 21,000 ©v¨¦øh¯ J¸ C¯¢vμzvØS ¹. 7,000 
÷u´©õÚ® JxUP¨£mk 1995&À ¹. 8,000&zvØS 
ÂØP¨£mhÚ. 

  {v Kmh AÔUøPø¯z u¯õº ö\´P. 

19. For the production of 10,000 electric automatic irons; the 
following are the budget expenses. 

Particulars Per unit (Rs.)

Direct material 60 

Direct labour 30 

Variable overhead 25 

Fixed overhead (Rs. 1,50,000) 15 

Variable expenses (direct) 5 

Selling expenses (10%) fixed 15 

Administration expenses (Rs. 50,000 rigid for
all levels of production) 

5 

Distribution expenses (20%) fixed 5 

Total cost of sale per unit 160 

 Prepare a budget for the production of 6,000 and 7,000 
and 8,000 irons, showing distinctly the marginal cost and 
the total cost. 
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 10,000 uõÛ¯[S ªß Cìv›¨ ö£mi EØ£zv ö\´¯ 
RÌUPõq® ö\»ÄPÒ vmhªh¨£mhx. 

Â£μ[PÒ J¸ A»QØS 
(¹.) 

÷|μi ‰»¨ö£õ¸ÒPÒ 60 
÷|μi T¼ 30 
©õÖ£k® ÷©Øö\»Ä 25 
{ø»¯õÚ ÷©Øö\»Ä (¹. 1,50,000) 15 
©õÖ£k® ÷©Øö\»Ä (÷|μi) 5 
ÂØ£øÚ ö\»Ä (10% {ø»¯õÚx) 15 
{ºÁõP ö\»Ä(¹. 50,000 {ø»¯õÚx GÀ»õ 
EØ£zv {ø»US®) 

5 

Â{÷¯õP ö\»ÄPÒ (20% {ø»¯õÚx) 5 

Kμ»QØPõÚ ö©õzu ö\»Ä 160 

 6,000, 7,000 ©ØÖ® 8,000 A»SPÒ EØ£zv ö\´¯ 
ö|QÌÄÖ {vzvmh® u¯õ›zx, ©õÖ® ö\»ÄPøÍ²® 
ö©õzu ö\»ÄPøÍ²® Põs¤UPÄ®. 

20. A multi-product company furnishes you the following 
data : 

 First half of the year Second half of the year

Sales Rs. 45,000 Rs. 50,000

Total cost Rs. 40,000 Rs. 43,000

 Assuming that there is no change in prices and variable 
costs and that the fixed expenses are incurred equally in 
the two half year periods for the year. Calculate:  
(a) profit volume ratio (b) fixed expenses (c) break-even 
sales (d) percentage of margin of safety. 
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 £À÷ÁÖ ö£õ¸ÒPøÍ EØ£zv ö\´²® J¸ {Ö©©õÚx 
RÌUPsh ÂÁμ[PøÍ u¸QÓx : 

 Á¸hzvß  
•uÀ £õv 

Á¸hzvß  
Cμshõ® £õv

ÂØ£øÚ ¹. 45,000 ¹.50,000

ö©õzu ö\»ÄPÒ ¹. 40,000 ¹.43,000

 Âø» ©ØÖ® ©õÖ® ö\»ÂÀ G¢uÂu ©õØÓ•® CÀø» 
GÚÄ®, AÆÁõsiß C¸ £õv Põ»zvØS® {ø»¯õÚ 
ö\»ÄPÒ \©©õP EÒÍx GÚÄ® P¸xP. 

 PnUQkP : 

 (A) C»õ£ AÍÄ ÂQu® 

 (B) {ø»¯õÚ ö\»ÄPÒ 

 (C) C»õ£ |mh©ØÓ ¦ÒÎ ÂØ£øÚ 

 (D) £õxPõ¨¦ GÀø»°ß \uÂQu®.  

 

 

  

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is electronic commerce example? 

2. Define internet. 

3. What is a shopping cart called? 

4. What is an example of a portal? 

5. What does TCP stand for? 

6. What are threats to a network? 

7. How do I make a payment secure? 

8. Define CRM Process. 

9. What is working of WAP? 

10. What is Time factor? 
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SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a)  Explain the Scope of E-Commerce.  

Or 

 (b) What are the Elements of Internet?  

12. (a)  What are the limitations of E-Commerce? 

Or 

 (b)  Explain the Enterprise Information Portal. 

13. (a)  What are the types of Traditional Marketing? 

Or 

 (b) Explain the Characteristics of Protocol. 

14. (a)  What are the different types of tokens in block 
chain? 

Or 

 (b) Explain the benefit of Net Banking.  

15. (a)  Explain the Electronic SCM and its benefits. 

Or 

 (b) Describe the new trend in making payments online. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the Man Power Associated with E-Commerce 
Activities. 

17. Discuss the steps to design and develop and E-Commerce 
Website. 
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18. Describe about the Forecasting and planning tools. 

19. Explain the fundamental of Logistics Management. 

20. Explain the global application in SCM Value Chain 
Trends. 

_______________ 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define rating scales. 

2. What is sampling design? 

3. Define research design. 

4. Write short note on business research. 

5. Define data. 

6. Write a note on research report. 

7. What is footnote? 

8. What do you mean by scientific research? 

9. What is personal interview? 

10. What is a good sample size? 
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SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Describe Quantitative research methods. 

Or 

 (b) What are features of good research design?  

12. (a) Describe the use of websites and browsers. 

Or 

 (b) Explain various types of interview methods. 

13. (a) Explain the various methods used in research 
report presentation.  

Or 

 (b) Explain the different types hypothesis. 

14. (a) What are the various methods of testing?  

Or 

 (b) What are the limitations of primary data collection?  

15. (a) List out the advantages of Review of Literature. 

Or 

 (b) Describe the methods in preliminary data 
gathering. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the process of research. 

17. Explain nature and scope of business research. 
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18. Discuss in detail the various research designs. 

19. Explain in detail about scaling techniques. 

20. What are the various types of sampling techniques in 
research methodology? 

_______________ 
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PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is dishonor? 

2. Define in the term insurance. 

3. What is occupation? 

4. What is pay in slip? 

5. Define customer 

6. What is days of grace? 

7. Who are called as customer? 

8. What do you mean by joint account? 

9. What is bearer cheque? 

10. What is agent report? 
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PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the kinds of banker line?  

Or 

 (b) Explain important methods of pricing. 

12. (a) Distinguish between cheque and promissory note. 

Or 

 (b) Write a short note in clayton case. 

13. (a) What are the essential of a cheque? 

Or 

 (b) Explain the uses of printed cheque forms. 

14. (a) Briefly explain the holder and holder in due course.  

Or 

 (b) What are the nature of fire insurance? 

15. (a) What are the principles of life insurance? 

Or 

 (b) Write duties of agent. 

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Briefly explain information technology in insurance. 

17. Explain the various types of cheque. 
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18. Describe the kinds of insurance. 

19. Write the duties of collecting banker. 

20. Discuss the procedure for closing of an account. 

_______________ 


